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INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.

1. Please write your Roll Number very clearly
(only one digit in one block) as given in your
Admission Card.

2. You have to answer 100 questions in this
test.

3. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as

shown below.
Correct Method Wrong Method
ONON XO D D@

4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct
answer will be awarded one mark.

6. Do not write your name on any part of the
question booklet or the answer sheet.

7. Rough Work can be done in the space
provided at the end of this booklet.
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Class - X

There are 100 questions in all. For each
question four alternative answers are given
marked as (1), (2), (3), (4). From these, find
the most appropriate answer. The number
denoting this answer is there in the answer
sheet against the question number concerned.
Darken the circle with Blue/Black Ball Pen
only. Record the answers thus in the OMR
answer sheet only. Do not write anything in
the question booklet except your Roll Number
on the cover page and rough work in the
space provided for the purpose

Directions (1-5) : In each of the following
letter series, some of the letters are
missing. Find the missing letters in proper
sequence from the four alternatives
given.

pava AABB. BBB'BBB

(1) BBBB (2) AABB

(3) BBAA ) ABAB
}f"_prqa_pp_rqupw

(1) ppppr (2) prrpqg B

(3) prrrq (4 prppq |
@ ccb;a;c;baubc

(1) abaca ( abca

(3) abbab (4) aabbc
A7 nmammynmemmanam

(1) mnnmn (2) mmnnn

(3)”mnmnm (4) nnmnn

M-2

MAT

rc@m 100 <x_q_|:xa SN 60600 @213 0
) (2), (3), ( :ﬂrm cmsmmgsms; @ moef
QJJ@J@ eemro Ao ad:0syEiigiens. ol
NAWORE®D o[ “ﬁo @D M) EWILR MW EM®O
O HOMOo LENSallSlens. OV pEHEOOD
) Fleem maud DEMOHHSAMIG E®OXY
@03 o6mE Qo milel @reag)ssla
&0l Do I®IBR MIOWBD Oald Hale®d
Ala] S0 {1660 pemEEBGR @o(I@00 OMR
HAMASHSLINMIIE A(®o BRSSO, B2l
0B |6uBasSEIIw enyssile e-ldlemmd aflsmeaes
GO0 MMUMe, Oald AUBSSIM) cruengl o
SI88 MUOLIE MSEBRM HHClaje:d aflad:

QOROMMI0 af)LAOVID.

mIBdeGUEBM : .0103 68K (1-5) a6y ®AT
@AlBOIM C2I0BIBWD @OHAO EURMlOw
@RS OOMEQ SO ISEMIEN). BIGI EHM
@Dflego aB®OMio @L:HMEBMD Allgealow]
glene. @amilgies moal HEm () le-smmead
mlomze Allg) GaII® ERHHOETBWD VOlWOW
(B0OTeRaa®) @6 flSlen)s:.

1. A_A_AABB_BBB_BBB

(1) BBBB (2) AABB

(3) BBAA (4) ABAB
2. _prq_p_rqr_pr_r

(1) ppppr (2) prrpq

(3) prrrq (4) prppq

3. a_ccb_a_c_ba_bc
(1) abaca (2) babca
(3) abbab (4) aabbc
4. nm_mm_nm_mm_n_m
(1) mnnmn (2) mmnnn

(3) mnmnm (4) nnmnn



Class - X

/EA'l a certain code language the
word NUMERICAL is written as

LMUIREACN. How will the word
FACTORISE be written ?

(1) EROCATISF
(2 ECAROTSIF
(3) EACRITOSF
(4) ESOCRAITF

gy‘vfnam of the following will get, when
the word ‘LABOUR'’ is written again
by substituting each vowel with
the third letter following it in the
English alphabet and substituting
each consonant with the immediate
vowel following it 7 )

(1) OLERWU
(2) UDESWU

' (38) NEESXU

| MDEHXU

IS

Directions (7 — 8) : In a certain coding system

“hafcba” means “the white cat frightened

the mouse” a- th

“fdhe&” means “the frightened mouse ran
- ﬁ | Tl N N | STl

away” £ F

“gfba” means “the mouse was white”

“ n & W P ] E
cda” means “the catran”  mews - §—
@/\Nhat is the code for “ the cat was
frightened “ ?”
1) hbf e
{#. hite Ceol
(@) hgea
(8) edch
(4) hafc

M-2

MAT

5. &0} (IGM 8> GHIEaUWI@D
NUMERICAL ag)m cuogsflem
LMUIREACN ag)om’ ag)@fleodd
FACTORISE agym auossiiem
Qg)ETBEX ag)FLm00 ?

(1) EROCATISF
(2) ECAROTSIF
(3) EACRITOSF
(4) ESOCRAITF

6. LABOUR ag)mm iossileal mjed
ANOEMBRD O aldr®o o]
@oesoadefl@ eoalom alld
@SB QUM BIMOIAE OO
@RBHUD0 EBINBLO (L JEEMMIBH®
eBeg @aleom all@mysdomy
Q@M VJEIBHDO 6)d:06MB}0 MR

ag)AEl@Ord SISI0M QLOBE) a@® ?
(1) OLERWU
(2) UDESWU

(3) NEESXU
(4) ODERXU

mldegueIs®d : (7-8) ) (G B> GHOM)
@U@

“hafcba” agomam) “the white cat frightened
the mouse”

“fdhea” agym® “the frightened the
mouse ran away” ‘

“gfba” agyom@) “the mouse was white”
“‘cda” agym@m “the cat ran”

7. ‘“the cat was frightened” agyrmaflexi
B0 ag)rmoen ?

(1) hbfc
(2) hgca
(3) edch
(4) hafc
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y(hat is the code for “away” ?

JJ')/
2) d
3) f
4) h

/9. Some words with jumbled letters are
given below. Find the word which
does not suit the group.

(1) EUOBLS
(2) KRTIS
(3) HE&T%WS

(4) HSIRT

}01 Which of the following words cannot
be formed from the letters of the
word ‘PERPENDICULAR’

(1) PENCIL
(2) INDEPENDENCE
(3 ERADICATE

(4) CIRCULAR

Directions (11 — 14) : Which of the
following numbers should occupy the
position of *?’

@

9]
1t
1

@ 26 |72 | 4Bun [
5 | 6 7 [a2)
: 27
14 | 39 274 | T,
7 ? 14 -
72
(1) 25 : .
%
@) 14 5%(1
@) .
4) 9

M-2

MAT
8. “away” agMailan eexoa) ag)rmosn ?
(1) e
(2) d
(3) f
(4) h

9. moevmnTildleanm ealoa\mies
QUOBEBEOR BOSHUDETBURD (M0

@96 ag)@l@leanmy. SsTiled
£)ISOOIT) QLBE) BE)ENBETTN:.

(1) EUOBLS
(2) KRTIS
(3) REATEWS
(4) HSIRT

10. ‘PERPENDICULAR’ ag)m Qlossil
68l AOHAHOTBWD Hale@IUila
Q) SR BT (LIBE) AR® ?

(1) PENCIL
(2) INDEPENDENCE
(3) ERADICATE
(4) CIRCULAR

mldeguwessd : (11-14) aflamanilo
CROIMNETT), GO BEMM (Vo6 af®) ?

Mol 26 | 72 | 48
5 6 7
14 | 39 27
7 2 14
(1) 25
@) 14
(3) 27
4) 9

P.T.O.



Clgss -X o MAT

e

13, 13,
|
(1) 189 - (1) 189
¥ _
@) 179 %%0 @) 179
(3) 159 8 (3) 159
\ '51‘3/,(
(4) 229 % (4) 229
14442%7_15;30.5163’&9:35 14. 42x7+5=30,905+63x9=35
 then56%8+4 =" 9o @RI 56 x 8 + 4 = ?
. (1) 28
(2) 44 (2) 44
(3) 36 (3) 36
o (4) 42 (4) 42

Directions (15 — 17) : In each of the four | ®1degwemd : (15-17) moey
groups of letters, one is different from the | XPEOIHB1OS HISEVI@ @eoepo

others. Find the odd one. agiegIeia@ mlomge aly®jmpaosm.
| SO ©aISOED® oR® ?
J87(1) ABTU (2 RQST
3) WSO (4) YXEF Ll (2) RQST
L il (3) WSO (4) YXEF
PR o 16, (1) AKU (2 CMW
. i o @) DIs @) EOY

M-2 -4-
\



Class < X

17/ (1)/VWuz (2) EHFG
(3) ADBC (4) PNOM
}8./ Find the odd one

(1) 3680475 (2) 6340‘83713
(3)7809467 M (4) 3048674
M a certain code Ianguage_f6§zb2§§ is

written as 56483. Which number is
represented by the code 34342 ?

(%)/etéé17 t 27

(4) 45528

(1) 45187

(3) 41312

Directions (20 — 22) : There is a relationship
between the two terms to the left of : : Find
the pair for *?’ from the four alternatives which
holds the same relationship.

Ey«lriter : Book ::?
(1)

Poem : Poet
(2) Building : Architect

(3) €0mposer : Song

(4) Chair : Carpenter
9/ Scales : Fish:: ?

(1) Trees::Leaves

S;/Y Skin : Man

(3) Bird : Feather

(4) Lady : Dress

22./ Paper : Wood : : ?

(1) Cloth : Dresses
(2) Brush : Paint
(3) Ink : Colour

(4) Brick : Clay

M-2

17. (1) VWUZ (2) EHFG !
(3) ADBC (4) PNOM

18. &)gEil@d ealSOEm® aR® ?
(1) 368047  (2) 640837
(3) 809467  (4) 304867

19. 80} (IG®) B> EROU)BINHWIT) 63728

agym@lem 56483 ag)mMm ag)@i®]
@@ 34342 agymM eouflem (el

oilufledleenom oy a@® ?
(1) 45187 (2) 42617
(3) 41312 (4) 45528

mldeguemdd : (20 - 22) ooy ®arid
HOMM 60103 )6mB6l@ :: aflam@diloy sosm)
QUNEMES VN3] QUIBNHD monil@d. &)
aunwmgm;%'n enimo amqilenssiw
eado ‘7" allamEMlM EROREWIRMO®
‘@R’ 66N @T) M.
20. Qg)ROTRMHOOM : al}(Ddho i ?

(1) aiBjo: @l

(2) edglso :: auoqpudlel

(3) maidmoal : mwomo

(4) &IV : ERUIA

& 21EMUEd : alled @ : ?
(1) DEEMBWD : EDLIBUD
(2) emoell : mmyau\d
(8) aleddl : QUMD

(4) cuddle : o

22. Galg|d: @< ::?

(1) oyendl : QuepEm3Td
(2) (erad : 2l0Wo

(3) @adl : (floo

(4) apseg]: eloemy

21,

P.T.O.
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Directions (23 - 26) : Which term will replace
the question mark (?) in the given series ?

? [

15 4¢
23.793, 100, 114, 135, 163, 2 Z}

(1) 198 (2) 195
(3) 196 4) 192§
i}
24,/12 13,17, 26, 42, 67, 2 3e
Lo L T3C o3
(1) 101 (2y103
(3) 97 (4) 107
%\
25, 'fM? 1;{P«;z CT79,?
(1) EW112 (2) DX110
3y§11s (4) BY113

(‘W M2B, QSE, T7G, X13J, ?

K“"/I 2w VE Ay (o
(1) B21M 2y A27L
(8) D18K (4) Y20K

Directions (27 - 29) : Find the number which

does not fit in the group.

27/3 18, 24,29(36) 40
(1) (2) 24
(3)/36”

(4) 40

\
2 4 ] é’
397414765, 97

(1) 35 @) 47

Qg

| (3) 5 (@37 <
(2% 3,,4,;719514,519121,’39
~ e 2) 14
(3 19 (4) 21

M-2

AL

MAT

mldeguemmcd : (23 ~ 26) mnildlenm
euemieidd @.21oc)afllamemilm) aldns
QUM aRw) ?
23. 93,100, 114, 135, 163, ?

(1) 198 (2) 195
(3) 196 (4) 192

24. 12,13,17,26, 42,67, 7

(1) 101 (2) 103
38) 97 (4) 107
25. TM7, YP42, CT79, ?
(1) EW112  (2) DX110
(3) FY118 (4) BY113

26. M2B, Q3E, T7G, X13J, ?

(1) B21M (2) A27L
(3) D18K (4) Y20K
mldeguemwd : (27-29) &)5odd

HaISOE® (Mo6l) aRO®MM He6NS
QTS

27. 7,13, 18, 24, 29, 36, 40
(1) 18
(3) 36

(2) 24
(4) 40
28. 35, 37, 41, 47, 65, 97
(1) 35 (2) 47
(3) 55 (4) 37
29. 3,4,7,9,14,19, 21, 39
(1 7 (2) 14
(3) 19 (4) 21



Class - X

Directions (30 - 31) : In each of the following | @166M &0¢00 €213 @M]Ll0
questions insert the right sign to get the %%m%oﬁw&%mg
required results. 2flamemid ag@ ?
(’ o =
%1813_615:36 30. 18_3_6_5=36
(1) =, + x (1) =+ x
M**‘X- (2) + 4+, x
(@) +x,+ (Bhe e
() - %+ SRR
31. 18, 422:7=12 .. Wl 3 206
2) -, x, + @) =% +
(3\)//4_’: e, = (3) + x,—
(4) + x,+ A %
. . ’) . (I
%\d the number suitable for ‘?’ if the <. i.ﬂf:.?f)(ﬂdﬂ 61)%2 'grgz&oﬁw(;%gg
two numbers on the left of : ' obey a @611} Mok | (DA6lISWleNas @rem
certain relation in 5:50:: ? : 162 enIawo aloellenames allworla
c2103)a flamemiimy cwozdleanm
(D/( (2) 8 Moo6L @@ ?
(3) 11 (4) 7 (1) 9 (2 8
(3) 11 (4) 7
337 The independenc? day. of India was 33. e Wes mpmEmEme 2014 @
celebrated on Friday in 2014. On egslwodal @ereadl oy, ageldd
which day will it be celebrated in 2022 @b mupmnmEimo agy® Elaumo
2022 ? Py 1620171 @DeeI0aHlee0 ?
(1) Wednesday ' (1) enpwmoyal
(g)/Monday yer (2) aflego¥al
(3) Friday (3) ecuggl@ogal
(4) Saturday (4) cflwogal
M-2 -7- P.T.O.
' |4 i WA A% 20 % 21

mldegwemud: (30-31) Mmooy m)(mMAT

ook Sad U wed T BC S4 Me
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the south. After walking 20 metres,

he turns towards the north. After
walking 25 metres, he turns towards

the east and walks 15 metres. He

. then turns south and walks 5 metres.

|$ How far is he from his original
position and in which direction ?
(1) 15 metres North, East
(2) 15 metres South, East

(3)/1 5 metres, East

(4) 15 metres, West

/35./ Find the order in which the following
words are arranged in a dictionary ?

a) transplant

‘ b)
c) transmission
d) transform
e) transistor

' (1) dbeca

(za/débca

(3) ebdca

(4) cdbea

translate

Je

36. \How many such pairs of letters are
there in the word COMPUTERS
which have as many letters between
them as in the English alphabet ?

(1) 6
(2) 4
(3 5
(4) 3

5

M-2

Prakash starts walking towards

MAT

34. (AIL0UIEVBE)BOUBODHE) MSAENMY,

35.

36.

20 algd msmaiimy ewao @RI
QUSHNCIMNEOMHH ®XT@IM).
aflemgio 25 dllgd msmmailoy eweatto
H19es00g ®lolevm 15 algd
msenimy. afleslo OMEHN0S
afldlern) 5 algd msenM). ag)wslad
(18008 a}06ag TuoRIET fltmie
Qg)(10) @RR-RIBTHIEY agy® duvoaiesns ?

(1) 15 dlQd cuses) &slwes)

(2) 15 dlQd e B5less)

(3) 15 dliQd wsless)

(4) 15 dIgd aislemmoc
80 ulsdemdlaiad maevemnar
Bl QUOBEEBWD aR® (B>O@THH
ewfldleaoe ?

a) transplant
b) translate

~c) transmission

d) transform
e) transistor
(1) dbeca
(2) debca
(3) ebdca
(4) cdbea

COMPUTERS agym a3@3fl6al @i
B80S SR oglayd @ISHOMOL
ofleal (@ao aloellenmmes dlolaid
ag)(® 62RO @OLHOEIBLD Hng ?

(1) 6
(2) 4
(3) 5
(4) 3
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/3?.' Ajay borrowed Rs. 200 from Ganesh.
Sanju borrowed Rs. 100 from
Ajay and gave Rs. 50 to Ganesh.
Rs. 350 was stolen from Ganesh
and he was left with no money.
How much money did Ganesh have

initially ? .
(1) 450 (2Y300 B 4 el
(3) 500 (4) 250 .
4 o i
&
% a group of people, 50% people 38.
read newspaper A and 1/5 of the

rest read newspaper other than B.
Which figure out of the following
will best depict the people who read
newspaper B ?

(@) (b) (©)

(1)/6/ @) a
@3) b 4) c

/39./A — B means B is the son of A,

A x B means A is the brother of B,
A + B means B is the sister of A and
A + B means A is the mother of B.
Which of the following is definitely
TRUE aboutRxS-Q+P?

(1) S.is the mother of P and Q

(2)7P is the daughter of S and is the

niece of R

(3) Qs the uncle of S’s brother R

(4) S is the father of Qand P
M-2 : [

2
&

V4
w

-9-

3o
G- P

)

»

p..-

(601

37.

39.

=)

MAT
weemadlon ©6@efldd alimio @R’

200 @)al QUIOETIRIM). (TVEIER) @RS
ale®@d ailomyo 100 @l QIETHEI® GUdatto
50 ®lot WEeMaHIM} 6dIS}HNLM.
weemadlo@ aeasaitwo 988 350
®yal MayOSTIMIM @EWIRLeOS
6HOIo DBE|IW aléMedmIMio
@oalcuad]lenyMIg] ag)slad @A jo
weemadlem aed:0Io ag)(®@ 0al
eemso@iloynmy ?
(1) 450

(8) 500

(2) 300
(4) 250

a0} (Malldd 50% @& mumy
eala® A cuodleanymy. euoss]
wjaaaIdla@d 1/5 @wo MM Galad
B &l U uo@fleanm). ag)sldd
myaeala]d B clodlenymaien
maflaflenym relwow all@o
@06 P@mMldleamauEad aR® ?

(@) (b) () (d)

(1) d
(3 b

(2) a
(4) c

‘A - B agmmomd B, AQ)es ade-moem.
‘A x B agmmomd A, B @es 0eanoa
amoem. ‘A + B' agmmo@ B, A @es
Meanoadi@os. ‘A + B agymod A, B
@IO'S @OANWIET. ag)Bl@ ‘RxS-Q + P’
agymaiiexn quosrumulle] vadleowemm) ?

(1) P, Qaogmilcumyes @oom@oem S

(2) P, Se@aseale R e a@m
OOUKIMO6M

(3) Q, S oM qveanozEMI® R 6
@OADOMOEM

(4) S, Q allewe P ayeswyo
@10.2JMo6M)

P.T.O.



Class - X
! @ Kiran and Sanju practice swimming.

Kiran practises in the morning and
noon on the alternate day starting
from Monday. Sanju practises in the
morning on Tuesday and Thursday
and in the noon on Saturday and
Sunday. On how many days in a
particular month of 30 days starting
on Tuesday, Kiran and Sanju would

meet each other ? -

(1) 2 WA 2
(2 A =
@) 5

(4) None of these

M a row of girls Shoba and Geetha

occupy 9™ place from the right end
and 10" place from the left end
respectively. If they interchange their
places, Shoba and Geetha occupy
17" place from the right and 18" place
from the left respectively. How many

girls are there in the row ?

(1) 26
() 25
8y 27 3
(4) 28 ¥
. NESn

MAT

40. ®loemyo (uerER)Qo MA@ ald]

41.

wlelleanm). aile:eds.al mysend
emlsallgyes &laiavemaldd
@alfleaiio D.ol@io @l aldl
wellenm). querer), 6.010QJ0¥.al
@o QPP al@ie IQleaI®)o
nl@I¥al®io MIQOIY.2IW)0
£2i@io aldludlellenmm), 6.0 0¥
@roclenm 30 dlalmemaas
@) MOVEVHIES Bl6Myo TVEERIOO
ag)(® (OGN0 Srenziansio ?

(1) 2
(2) 4
@) 5

(4) paewormagy

80) AUCIYI@ cwoeio Wd®)o
@LOJ(@@o QIBI®) AUw@m)y ilmyo
8Malmoa®mio MHS®) QIO
mlomio alEMIBmo @RE). BOOIMIOS
MUOIMETBA alOM)®o BOCI@omd
IR0 WIM®)o WINI(Mo
aeomuemy mlmio o]
BMYODMYo EDSM) QU@ Moo
al@flomgonmyo @M. ag)Esldd @D
UBEIM ag)(® eralterde)Sleid

ons ?

(1) 26
(2) 25
(3) 27
(4) 28
kit
'Sk o G
.]q
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ey

A student got thrice as many sums
right as he got wrong. He got three
marks for each correct answer and
one mark was deducted for each
wrong answer. He got 72 marks in
all, how many sums did he solve

correctly ? VN i
sl g
(1) 27 o e
N o I
(236 3(32) S
o 2
(38) 35 L’,,p"
A
(4) 32 e

A paper of rectangular shape is cut
into two halves. The two pieces are
put together one above the other
and again cut into halves. How
many pieces will be there after 9

cuttings ?
(1) 256 2)512
(3) 258 (4) 1024

When Amit was born his father was
29 years older than his brother and
his mother was 22 years older than
his sister. If Amit brother is 5 years
older than him and his mother is
4 years younger than his father,
how old was Amit's sister when he
was born ?

(1) 10 2) 7

@ 9 (4) 8
Sfs v
oo 5. -11-
fs 9 »arx
s j\,\’\ﬂ

42.

43.

44.

MAT
80} &)5le5 MmO HEmeo
aidlanmallen ayom ases vodl
oMo LIElHNNM). 6960 Kod)
@IEDO@DIMio MM DAL
a1El#EMIOWD B8 emgom)
DAMOEMBRHH S0) @IDH6
MaYOaSIMY. @AM @6
72 008 eiElay) agsl@ wdl
@O HEMMO H:6NBOTIW ¢.2103)

EBRIOS ag)eRo ag)® ?
(1) 27
(2) 36
(3) 35
(4) 32

21O TIfeyas 60} Gala]d
dhaHeMo M6NE @Rely MBI
DO1B6M). MENE BHaH6METREL0
a)dl o] c.oid@mynl.ej@ilm) Guako
aflensyo eeso@ @y0lenyomy.
EDETBOM BB IMOROED (adonuwo o
001 2l) SYIEMIoR af)(®
BHaUeMensid alEleso.

(1) 256 (2) 512

(3) 258 (4) 1024

@oal® ®ailel MOWE GRAOM
@091 @RCLE(R MEAOIBAEMENORL0
29 QQQ HIS)®Ejo @R
@O MEaNIBElcRH008I0 22
QU@Q) HS)®LRMO@oym). @oal
Ao MEanIBOM @ROICMBNIRD
5 @@ #si®eljo @AM
@ODE @0.9IEMENIWD 4 UQQY
&HOQMOeEMELI@ @oalle &alol
MAQED GRAIOM MEa0O3TweS
QUO® ?

(1) 10
3) 9

)7
(4) 8

~ P.T.O.
quwa =4 = 22F3

254x = 224y
%3 x> Y-yt 30



Class - X

43. If the perimeter of a square and a

' rectangle is equal to 80 cms each

. and difference of their areas is

. 100 sq. ems, length of the sides of
the rectangle are

\ - 30
. (1) 35cm, 15¢cm MS

(2) 28 cm, 12cm

| @AOcm,mcm "

(4) 26 cm, 14 cm
%Doctor’ relates to ‘Patient’ in the
- same way as ‘Lawyer’ relates to

' Accused

- (2) Magistrate

'\ (3) Customer
(4) Client

2 ()2 80
=z Y0

- g'l,]b-‘;loo

. SR\ S
47. Ina certain code DARK is written as

~ 11-5-39-25. How will the word NOSE
' be written in that language ?
(1) 31-33-41-13
(2) 32-35-37-15
 (3) 28-30-38-10
. (4) 28-33-36-12

4% ‘book’ is called ‘newspaper’,

' ‘newspaper’ is called ‘dictionary’,

- ‘dictionary’ is called ‘directory’,

. directory is called ‘magazine’,

‘magazine’ is called ‘computer’

| which of the following is needed to
find a telephone number ?

(%)/lﬁ'agazine

(4) dictionary

| (1) directory

(3) computer
\

M-2

6= ’)'/O%D() ¥

-12-

45.

46.

47.

48.

MAT
80) MO aI®mOOETeMRQIe oI

anfle@@io aygaal 80 emgalgd
afleayoe, aflqgfldepariion alymomo
100 clmywy em@lialgoie GBI
2ImOOTIenN UeByes Mlgo
a@® ?

(1) 35cm, 15¢cm

(2) 28cm, 12cm

(3) 30cm, 10cm

(4) 26 cm, 14 cm

eWogzd MW Slalen;M®
cUfla@oigonsmesl@d (ueeiad
eI ]gldlesomay

(1) ®ygaos]

(2) mypouflaiad

(3) ®aleosmICS

(4) ®al

B0} (JEM) B GHIW) BIaHUW@
DARK agymm alossilem 11-5-39-25
ag)e Mmoo ag)slad NOSE agymm
QUOBEOR @B agasy ?

(1) 31-33-41-13

(2) 32-35-37-15

(3) 28-30-38-10

(4) 28-33-36-12

enssflom ‘mum cala]d’ agyemyo
MM’ ealoSlom ‘allesemdl’
ag)myo Alleemdilom ‘@’
ag)iMlo WROLKAlO® ‘@awmila’
ag)Myo @OWMUIOM ‘doalysd’
agimio allglalomd ary esell
Gand6nd MmIR @ens)allsSlenamd

@D IMEES MOWMo @@ ?
(1) wwokdl (2) aommiad
(3) wmuyusd  (4) awlestemds



Class - X

Directions (49 — 50) : In the question given
below, there are 2 statements followed by 4
conclusions numbered |, I, Ill and IV. You
have to decide which of the given conclusions
logically follows from the given statement

No singer is an artist

Conclusions :

. Statements :
All dancers are singers

MAT
mldegwem®d :(49 - 50)2nyqI0S
®mMIR1HH M E2l03 eI G @S]
(oMo aysdan’ |1, 11, 1, IV
ag)rlemBem maud madssllgas moal
MlRMETBRIMENE. (aITPIUMEBES @)D
Wiemaow afl@miseym mlnamo
QROMOMN) 66BN

49. (aJoRocum :
ag)gJo MAEBE:ML0 NIWBMIEM
B0} NIWEBMYO EHRIIBIOME)
minamenad :

z
. No dancer is an artist "

II!
”I.

All singers are artists -/
Some artists are singers

1)
1)

B0} MDBMBMNO BHEIOLIOME)

QGIEJO NIWHDL0 BRIOBOD
OO

IV. Some singers are artists
(1) Only Il follows

28l &:RI0E:20MmOD IWWE-IET
aflal DOWED BHRIDBIDMIMIET)

1D)
V)

()

Only IV follows

(3Y Only | follows

(1)
()
(3)

Il @o(@o afladaysmynmy
IV @o@o alld@ysoymm)
| @o(@o aflddaysmyrmy

(4) Only Il and lIi follows

50. Statements :
All rats are cats
All cats are dogs

(4)

(ORI :
ag)g)0 ag)elle:glo allaldaoem’
QgE)0 all.old8lo algleaem

Il 9o Il §o aflad@mysoymy
50.

Conclusions :

I

I

1.

- IV.

(1)
(@)
(3)

Some dogs are rats
All rats are dogs

No cat is a dog ~~
Some dogs are cats

Only Il and 1V follow
Only IV follows
Only 11, 111, IV follow

(4)Only 1, 11, IV follow

1,/Find the mirror image of the word
‘GEJDPSNQ’

(1)
(2)
@)

@

M-2

ON29aLED
ON29DLID
onsadqLis
oueqario

-13-

minamesswd :

)

1y
1)
IV)
(1)
(2)
(3)
(4)

51.

2aflal algledd ag)allegoem.
ag)g)o ag)elle:alo algle:goem.
60} allalWio alglwg.

aflel algled allo|egoem.

1l o IV 9o afld@ysmym)

IV @o@o aflid@ysoymy

I, 1, IV agyoriicu afldd@ysaynmy
I, 11, IV agyordlad aflddaysoiomy

‘GEJDPSNQ’agm alcamlodd

adaem (aiaflenflosnio ag ?

(1)
(2)
(3)
(4)

OMneqdLED
ON29DL3Dd
onsSaqLao

ouneqaL3ao
P.T.O.
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Directions (52 - 55) : In a college, the Library
is 300 m to the North of the office room. Maths
Department is 300 m North of the Physics
Department. Chemistry Department is 500 m
East of the Physics Department. Lab is
200 m to the East of the office room and
400 m North of the Chemistry Department.
Enlglish Department is 200 m North of the
office room.

@ Which of the two places are the
. farthest ?

(1) Library and Physics Department

(2) Library and Chemistry
Department

(3) English Department and Physics
Department

(4) Lab and Physics Department

53/ Which places are in straight line ?
(1) Physics Department, Maths
| Department, Lab

(2) Library, Maths Department,
‘ Chemistry Department

Wﬁ)raw, English Department and
x Office

' (4) Office, Maths Department,
Physics Department

what is the distance between the
' Library and the Maths Department ?

- (1) 400m _(2y500m
(3) 350 m (4) 200 m

M-2

MAT

mldeguemsad : (52 — 55) 8@} eocald
A e0eI®o soadlmy’ aydlayes 300 algd
us#s dlrdlensm. @allsemm memlm
alleomoe euafle:veoyaleomaniad afllomye
300 dllgd s« Aluafensm. emmEm
afleomo @8Y®1e 0o (Y all@ow @l ed
allomye 500 algd &sleey dlu@ileoen.
aldleemuooal soadlmy’ i@ aflomyo
200 algd &slvsendlralale am®EOD
afleonedladd alomye 400 algd usHey
dlnaleymoem. @@onea®@ afl@owo
aoadlmd apcfleiiad aflomyo 200 digd auseadl
vofleloem’

52. a@® MeNE UOLIETBEIET) d:)S)mMD
@OBHLIOTIILYaa® ?

(1) alqPedeI@0lo BV
afleomnaye

(2) almSOLIAC ANV
afleomalie

(38) @@owce@ alleowale dv@le:
(@ alleomaloe

(4) nIdle16MUBORIN)0 BV LOOLTY
alleomayo

53. oQ® (uNelETBIeMm eMdemeLwlad
mudiafl ecigpmma ?
(1) evailewo( afleowo, werlm
afleowo, aldleemnuoel
(2) ayPBoLIo, MEMl®uLI(Y
afleawmo, acvmm afledwmoe

(3) almE0RIWo, @RYOUNERIW
afl@owo, soadiony

(4) eoadlav, weMlmwopaleono,
@afle0o(y alleowo |

54. ap@0ei@@tiimio MeMI®uIy

allsomarilmie enseilepas @re:-elo
ag)l® ?

(1) 400 m (2) 500 m

(8) 350m (4) 200 m

-14-
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F‘JS/"i/n which direction is the Lab from the
Maths Department ?
(1) North-West
(2) South-West
(8) South-East
North-East

Directions : (56-58) Questions are based on
the following diagrams marked 1, 2, 3 and 4.
Select the diagram that best represents the
relationship among the items mentioned in
the questions.

am ©)e
0.

5/. Female, Mothers, Doctors %
;7/ Fruit, Flower, Apple 7
5/ Dogs, Pets, Cats 1

Directions : (59-61) : Questions are based on
the following series :

PYQAABESKDO'7NG: @NPYSR235/9 @S

59 hat is the ratio between the
numbers of numerals and symbols ?
If a number or symbol occurs more
than once it has to be counted as
one only.

(1,76 @) 7:9
(8) 8:2 (4) 4:3
M-2 1

. MAT
55. aldlexemuooal wemim alleomaried

a@@y dlveeflene ?
(1) qus®Es)- alsSlenmo
(2) omB)- aISlETMmOO
(3) ODMBE-BIPHE)
(4) CUSHE-BNPH6)

midegwemd : (56-58) auonw 88
82103\ moevmaidlesm 1, 2, 3,
4 agaml all@emeg @< MOoMmDoB6H
@BSOIWOEM). 6.0103 )OI @aidleanom
HSEBO8 6 U0 AlBII@ (aiwilaf

Wlesdlenym afl(@o BeemBmms:.

am (O)e
@>.

56. m&‘lceao'b, @PADAOD, BUWIRHBDOD
57. al9emB®, afal, @Rl
58. algleid, QUSAOBTRAYNETBAE,
a2
mldegwemd : (59 - 61) AHOWEE
82106 \60BuW moavdmnildleanmm euyen
OW ERYRDILE RSSO
Py#Q4A6F$KD@*7N3* @ NPy8R23$J9@Q$
59. o6 \BeYeS®)0 2 laMeBaInSW)0
6000 MADILEE @ROUdENIMO
ag)® ? Mol allamemsegd
@RUdEW] 20 @®m &mMow
BHEMBNBEIOTD DS
(1) 7:6 2) 7:9
(3) 8:2 (4) 4:3
P.T.O.
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60.

o

How many letters have a symbol either
on their left or on their right ?

(1) 5
(9/7
(3) 8
(4) 3

"How many letters have numbers on
their left and right which when added
together make a total of 10 ?

(33
(2) 2
(3) 4

.6/4) 1
. The positions of A, B and C in a

M-2

circular playground are as shown in
the figure. They run along the circle
in clockwise direction and stop after
covering % of the perimeter of circle.
Now which of the following statement
is true ?

A

c P
(1) Bis to the South-West of C
2§ B is 1o the South-East of A
(3) Alistothe Eastof B
(4) Bis to the North-East of A

60.

61.

62.

MAT

EDS®) QAUNEENO QLI QURE@MI
2flameTBw HE ah)(® BOLHOETWD
oens ?

(1) 5

(2) 7

(3) 8

(4) 3

EDS@ROLICETTNO QLILIBIICBTTIINES
Mol B &»glwodd alem

ae@mes Adlold agm @oeuo
6B eens ?

(1) 3

(@) 2

(3) 4

(4) 1

QUIOMIS)OTWOIQ 80 Sl
uoeieil@ A, B, C agomilcumyes
moomo all(@ @@ @o6m] .oyl
AEHIM®) BGaloORIIsM. gis]
&0 Gl ayoem oo
apgaeafle® % @dwo 8oslw
Gato M@0 I66M e @
®o6¥ajoetildlenmaieiad vod
@OW (A aPOCUM aR@) ?
A

c B
(1) B, C os omes alslemmoc
Aloolelosm.
(2) B, A WOS MBS B1PHE)
dlvowflenem.
(3) A, B wes sslvas) dluoalaosm.

(4) B, A @es QISHS H19H6)
Alvowileloem.



Class - X MAT

Directions : (63-64) : Study the following | T®E3UETBA : IO OLISETGILHM
_ i afl@o am@flanssi@ e¢watio 63 @D
figure carefully and answer the questions. 64 QUIOOWYES G.0I0BIETBRDHS HEMAO
BH6)ENBOTT) .
63 How many triangles are there in the 63. B @oemym 2 f@eilad
figure ? )@ (@EH06METBWD O6NE ?
(1) ‘/d (1) 14
() 10 (2) 10
(3) 8 (3) 8
(4) 12 (4) 12
64. How many pentagons are there ? 64. oyogl@d Hmoemym ol dd
af)® alerE)ERETBUD Hens ?
(1) 5
(1) 5
(2) 12
@ 12
(3) 10
(3) 10
(4)/8
') (4) 8

M-2 -17- P.T.O.
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 Directions : (65 —66) : Find the suitable figure
for the place marked by ‘?’ if the sequence is

continued.

65. Problem figures :
o

B @] 2

S OX m x ®N A

Answer figures :

7T

x ol o|lx ol e

>

(1)

o
/66 Problem figures :
1®00® ol d
O C.O ? OO | @
O O[O O @ 0®
Answer figures :
0| 0® (0| &0
O O O O
Oe| 00 |O0O® Oe

R @) e

(4)

MAT
mldequeBw : (65 — 66) 2106 00 l6vRs]
epas o lmeB®d ew) euysmiaienansmeslad
¢olodjollamemieq qoomaeml
Me@ogdlHeanm wdleow afl@o HEME
@uolemelldd rflomio BeeneEmE:.

65. ©.2106 M l6EBWD :

| 40 ] o} T A =
@ 2 | ©| A
s QOfx L1 X ® N A
OEMOMaIETBUD

| ©| @

x ol o|lx ol e

(1) () (3 (4)

66. @.l0B)0)IEsBM :

0@

. D>
o8] , o OO_’
O OO0 O @edoe
HAMAMIETRURD :
© 09 > @0
Oo O QO O
O 00| O0O® | O

-18-

(1) (@) (3) (4)
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67. In the given question figure (X) is
followed by four alternative figures
1, 2, 3, 4 such that figure (X) is
embedded in one of them. Trace out
the alternative figure which contains
Figure (X).

MAT

67. caloajeml@ ofl@o (X) &m
@sdm 1, 2, 3, 4 agoml moey
oflmedd maldlesnnm). afl@o

(X) pgassno eaiglgas ofl@o
QRO BHEIENSETT)H>.

iy

Z

Figure X (1)

68. The following figure (X) is folded into
a cube. Find the correct form of the

cube from the four alternatives.

Figure (X)

DL ey

A B ; C _Q/
(1) AandC 2)Cand D
(3) Aand B (4) BandD

M-2

(2)

-19-

B @)
(X) agyrm 2 Ni@@roilenn & Reniosy)ei]
@ asenymMy. @o@lef wdl
@O® ®)alo ®MIl@leanyM moel
OOV 2 leetBeldd alome @le
OGO S)BE) . -

68.

afl@o (x)

Sl

P&

A B C D
(1) Aand C (2) CandD
(3) Aand B (4) BandD

P.T.O.
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Directions (69 — 70) : In the question figure,
figures A and B follow a definite relationship.
Establish the same relationship between the
figures C and D by selecting suitable figures

from the answer figures.

68. Question figures :

MAT

mldeguoems®d : (69 — 70) (I M l@milad
afl@memd A @o B @jo madlmd &o)
eucwmens. C @lo D w0 @oe®
Mo AloEmss dlalelepas all@o
HODOMaIEIBEE aflmyo HeeN@B)®:.

Q) -
AI B D
Answer figures :
e
o @ @)
Ml;xestion figures :
?

X

s

- Answer figures :

d

Vi

PO

1

(1)

M-2

(2)

X
P
o

(4)

69. (@ 2fl@o :
?
A B C D
oEmE 2ll(@ensdd :

(1)

(2) (3) (4)

70. (i@ 2fl@o :

A

&l -

OO0 ofl(@meesgd :

¢

Vi

»

-20-

(1)

(2) (3) (4)
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Directions (71-72) : Of the four figures given,
three are similar in a certain manner. Choose
th'e\figure which is different.

71,

o e @ @

P

7%

an - ranranan-

-~

(1) @ B @

73. In the following question, figure
(X) is followed by four alternatives.
Which of the figures fits into figure
(X) to form a perfect square ?

= LBy [ [N
FgreX 7 @ @ @

Directions (74 — 76) : Read the following
information and answer the questions based
on them :
1. The length, breadth and height of a
rectangular piece of wood are 3 cm,
4 cm, and 5 cm respectively
2. Sides with measures 5 cm x 4 cm are
coloured white
3. Sides with measures 4 cm x 3 ¢m are
coloured black

4. Sides with measures 5 cm x 3 cm are
uncoloured

Now the piece is cut in such a way that
cubes of 1 cm x 1 cm x 1 cm are made.

M-2

MAT
mldeguweo : (71-72)2016S 6)8:0S)0)
3188 Mmoel 0l letBglad aemeo 60)
@OOTI@ VEYUJDOEM. O\ PDOW
@jalo aR® ?

71.

(1) () (3) (4)

73. afimo (X) &m @ysdam moel all@
B @Bl dleanymmy. ali@o X
oM o@®) all@apoow ealdamy
QU2 J0RI06NM 630} VA2IEM0 a BT
BN B FlW)ebs.

o O [ 5 L

afl@o X (1) (2) (3) (4)
mldeguemd : (74-76) mrigies mual
MR U9 GUoado G.2l03 EIBRRE)
OO0 B6)ENBOT]E:.

1. 80} 21m0 #05Wes algoe, aflel,
ealod9o ag)mial @LNd@E:a0 3 em.dl.
4 ev.dll., 5 om.dl. agyemilai@oen.

2. 5equ.dl. x 4 eqv.dl. AUWEBD HOISS
oo audlaiidleanyom.

3. 4em.dl. x 3em.al. QICETBUD SO}
oo alyudlafidleaomy.

4. 5 eomv.dl. x 3 eq.dl. alnss®d dloo
apwlaiglg oallem 1 em.dl. x 1
em.dl. x 160v.dl. QUNETRBEISS & 1611
#8000 mSleanm).

P.T.O.
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/74> How many cubes are there with two 74. oemy QUwo Moo el ag)®
sides coloured ? o 16N NEE6NS ?
(1) 12 (1) 12
(3) 16 Ay
4) 20
. (4 20 | “)
@5) How many cubes are there with only 75. 8 Qwo aﬂo:: Ul ag)@
one side coloured ? B 6N IRQ6NE ?
(1) 40 (1) 40
(2) 24 L a9
(3) 36
(3) 36
(4) 42
i (4) 42
(% How many cubes will not have any 76. Bay aaAcs “j]fo N
| colour ? BYREYBHEENS
1) 8
UK. o
(2) 10
2) 10
(@) (3) 12
e @) 16
(4) 16
Directions (77 — 78) : In the given questions Sbencegmch ; (17-78) : o
. : . ellem aUE® oas alcamid madldd
there exists some relationship between the o
terms to the left of the sign : : . Find the correct RO IMbDINES. @OH enIMLALES
é s 1 AIGEIBO8 HEMMDTVld6mBalmd Mmoo
pair from the alternatives which holds the same P
} : : ) QTN
relationship from the options given.
) 363 QS
CFH:IRX::? 77. CFH:IRX::?
(3L <
(1) ACD:Cl (1) ACD:ClJ
a5.¢
(2) DEF:LOR (2) DEF:LOR
9
(3) GIKq: MOQ (3) GIK:MOQ
w2
(4) DGI:LOR (4) DGI:LOR

M-2 -22-
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78/ BEGD : DONL : : 2
2534 wisthin
(1) DFHI: HLJL
(2) CFGJ:BKLN
(3) CFID: FRRL

(4) SRON : VSTN

/79.' ‘In a class Ajay is 6" rank from the

top and Vineeth is 18" from the
bottom. Raju is 14 ranks below Ajay
and 15 ranks above Vineeth. How
many students are there in the class ?

(152 I )
C V)
(1
(2) 55 e 2
(3) 53 ®BVv 33
23
(4) 54 R
.,M $3
@ind the set of numbers from the
alternatives which is almost like the
set (4, 9, 17).
o RN
(1) (5,9, 24)

(2), (8,17, 65)
(3) (6,12, 35)
) (9,19,78)

81./Find the number of three digit even
numbers that can be formed with
the digits 3, 4, 7 and 8 if no digit is
repeated.
(1) 24 -
(2 12

-23-

MAT

78. BEGD : DONL :: ?

(1) DFHI : HLJL
(2) CFGJ :BKLN
(3) CFID: FRRL
(4) SRON: VSTN

79. &) opflod @R ayesld mlomyo

80.

81.

@ROeEm Oomsleye Aflladle’ moey
almge alallomgonmymosm. ©ogm),
@Rl aflomo alalimoey 0oy
®oevwyo alllalld@ almyo alwf
meral 0om: ayeallanmosm. ag)momd
@D HONIM @O ag)(® Galwens ?

(1) 52

(2) 55

(3) 53

(4) 54
(4, 9, 17) agym VoM@
BMIS’ BS)ME@ @O HHyM
(MVOEUJOUEMO BE)ENBETYE:.

(1) (5,9, 24)

(2) (8,17,65)

(3) (6,12, 35)

(4) (9,19,78)

3,4,7, 8 ag)0il @Re6)6TRUMD H I
Ao Eoee6eBRd ERARGHIEH6Om
Qg) @D LFIWIM AYMBE DG
(o6 JBHEOS ag)elo ag)® ?

(1) 24

(2) 12

(3) 15

(4) 16

P.T.O.
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Class - X ¢ ~4 =S

@:2 Reena is 4 years older than Maya.
Sunil is 4 years younger to Suja but
Ya times as old as Reena. If Suja is

8 years old, find the age of Maya.
(1) 20 (2) 18
(3) 32 (@) 16

~Prakash bought 100 oranges for

Rs. 360 and he found that 10 are

rotten. At what price should he sell

| anorange in order to get Rs. 90 as
profit ?

sz

(38) 5.5

(4) 5

@What number should be subtracted
from each of the numbers 23, 30,
57 and 78 so that the reminders are

|

' in proportion ? -
7 _,,Q/Aé!?@'—‘r)g
M 4
2) 3
3) 6

‘ (4) 7

85. The sum of six consecutive odd
numbers is 540. Then the sum of the

smallest and the largest number is

(1180

@) 168 T

(3) 172

(4) 196

a
| y 4 GRNAE S

- & RR

&0 3-0
(2) 5.4 Egﬁj’e":

e
| ¥ S LS-s

¥

-24-

g1

ool - IIRRY
82.

83.

84.

85.

St0 3¢
L o 2 e

WL

T2
2

S: lun

T
MAT
0lm, 0WEWHHID moe’
QO ayemaigoem. aailafm’
MREWENOWD MLl QUL SO0
dim@yes % auq@u@oem. MRQE)
8 QUQOeEMEIM MOWW)OS (aI0Wo
ag)® ?
(1) 20
(3) 12

2) 18
(4) 16

(@008 360 @lal EXB0S)MTDY QUOETEID
100 @2060681@ aleoemeRo
aflemmmowieym). B0} 8006 ag)om)
afleiss)’ aflqoad @eaia’ 90 el 2108
#lglo ?

(1) 5.2
(3) 5.5

(2) 5.4
(4) 5
(23, 30, 57, 78) ag)(mil o6y jdsefl@d
aflomyo aR®) o6y H:10.2]0L106m
Ulao IS AVoEUIED @M IOm
avflelodymmae) ?

(1) 4

(@) 3

(3) 6

4) 7
@S2 WO @O BRIV IBEIOS
@) 540. ag)lad @oaiei@d apgaioe

62I01@ Moal jWIOSWI0 aRRORe
el qoal JWeSW)e BEOWI(® ?
(1) 180
(2) 168
(3) 172
(4) 196

£+(°4)cl-}4)1b0

g5 @C{G
&¢

i B
130
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Directions (86-88) : are based on the following

‘ sequence :
| bdbddptrdbdb?bdbdbddbgl?d

‘ 86. How many b’s are preceded by d
/ and followed by b ?

| (1) 2 (23

\ 3) 4 4) 1

8,7.'»’- How many b’s are preceded and
followed by b ?

(1) 3
| (@) 1

| (sa/

| (4) None of these

‘y./ How many b’s are preceded by b
and not followed by b ?

(1) 3

@ 2

(3) 1
(4) 4

89. Find the number of dots on the face
/ opposite to the face with one dot.

(2) 3
(3) 5 (4) 2

MAT

mldeguemcd : (86 — 88) oo a8
@003 J6MBW ®IOPTdleanm euyend
O @OSIMOIMAIBEI RSSO,

bdbddbbdbdbbbdbdbddbbbd

86. aymila@d d @yo afldaysdom b @jo

QM ag)@ b gens ?
(1) 2 (2) 3
(3) 4 (4) 1

87. ayilego aflalege b aimm ag)@

88.

89.

b eeng ?

(1) 3

(@) 1

(3) 2

(4) oaueIMAL)

ayomil@d b cumyM@ye afladaysdory
b AUROEB®@I® ag)@ b ens ?
(1) 3
(2) 2
@) 1
(4) 4

B0 SYOTRER MEUGTIONM ag)id
QUREMIEE DIUEDM@ af)(®
B OTEHWD ©ensowIdleno ?

2 | REBED

(1) 6 @) 3
) 5 (4) 2
P.T.O.
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9(})/‘L
* ~ answer figure 1, 2, 3, 4 completes

-X
“In the question find out, which of the

' the figure matrix ?
i
|

7
¥
A

roblem figures :

%
3

?

g
%
X

Answer figures :

NHRE

‘ @ (3) (4)

Directions (91-94) : Find the correct figure
from the answer figures if the problem figure
conqipy‘es in series.

/944. Problem figures :
I

|
|
oy
=

M.

o e) ® ¥o ~°*
| ,
" Answer figures : ~
o [ [ -
® | @ O ®
By & (3) (4)
M-2|

MAT
90. 1,2,3,4 agmi oemo.ofl@memsecd
a@®@oem (el @@ dileng eaislgy
adariledlennm all@o ?

(oo afl@o :

x| %
g4X
é?

OO 2@ :

3
:
X

FlRI&[%

(1) (2) 3) (4)

mldeguoemd : (91 - 94) (ol ofl@orilcd
@mldlenm afl@mend ao) euyerial
aleemsslod naew alldaysdomy cumym
AW afl@o aR® ?

91. (atafli®o :

o M

@
OEMO 2fl(@6ev3Ud :

[ ]+
@
(1)

[ *

o

[ .

(3)

(4)

-26-
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97’Problem figures :

X +
+

S =

- S
X

+ +

Answer figures :

= +

X

(1)

9/3./ Problem figures :

= v

Answer figures :

(G]R

NI

(RO
NI

(1) (2) 3) 4)

Ei_,/ﬁoblem figures :

Nk e

t e T V|1 o«
Answer figures :

£ e ppTr e

« Ll -S|l =21 <

(1)

M-2

@

L

(3)

(4)

-27-

92. (al@ afl@o :

X H

S =

O aflmensd :

(1)

@

93. (al@ afl@o :

OO o@D

(1) (2) (3) (4)

94. (i@ afl@o :

ol 3 s @ 1= -
+ |l 7T '—> L1«

OO 2 N@EBAR :
t =2]e t[> > ¢
- |1 ! - -
(1) (2) (3) (4)‘
P.T.O.
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Directions (95-99) : In a class, students
are practicing four games, Football, Tennis,
Basketball, Cricket and this is represented
iﬁ the following diagram. Study the diagram

carefully and find the region represented for
each question given below.

Basketball

Tennis

95.” The letter denoting those students
“ practicing all the four games.

|
(M @) g

(3) h./ 4) i

g&:/The letter denoting those students
practicing tennis, cricket, football
but not basketball.

e

N m 2 c
- Qe (%

EVThe letter denoting those students
practicing football but not basketball

or cricket.
@6

(4) f

(1) k
(3) m

MAT

mideguemud : (95 - 99) an) Goqfleal
aflejod @il anysaeruo@, esmimy,
OB BENIMRD, (BleOq ag)Mml moe)
Bl aldlwdlellsnmailom moevomanri
dleenm @ (Edl@ afl(@le:dl.afidleaym.
W®(Mo ¢BRLIaBdQo mmq}glemoesﬂwcuﬂc&)%
GdaHo B08R0 G.oldBjmrflemm)e (alwfaf
BAHM BINO ARODOT) BEENBETYE>.

K
&
&

esorriloy

AnISEMIO

wlaog
enomMieeng
genIomd

95. moéug dreldglo aldlwlelenm
85068 (aJaflaflulesdloldemmm
@OHHDO D ?

(1) ]
(3) h

(@) g
(4) i
esmilay, (o0, aqsesmIod agmial
aldludlellesymmyo entomieeg eentowd

G| HOOTMANMOW G168 (al@SIers]
W@l o fidlenym @oaxoo

(1) m (@) c
@) e (4) g

96.

97. enuomiee enlom, (@sleng ag)omi

QUWEIOH®m anlSEeNIIWR aldlw)
afleemm &)gle-0d
(1) k
(8) m

) b
(4) f

-28-
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9.;3./ The letter denoting those students

99.

practicing only football and cricket.
(3 m (2) b
(3) 1 (4) c
Students practicing neither
Basketball nor Tennis ?
(3 Union of region b, m, ¢
(2) Union of regionc, e, d
(3) Union of region b, ¢

(4) Union of region g, e, b

/
) 1voé Directions : The following question

consist of a set of three figures A, B
and C showing a sequence of folding
a piece of paper. Figure (C) shows the
manner in which the folded paper has
been cut. These figures are followed
by four answer figures from which
you have to choose a figure which
would resemble the unfolded form of
figure (C).

Problem figures :

(A)
Answer figures : _
g 0 Y &
o 6 B k| B
= ovo x >
(1) (9/ ) (4)

98.

99.

100.

MAT

a0)SEENIORI0 (@51e8nRlo M@ ald]
uBlefleanyom gle

(1) m
(3) |

(2) b
G c‘-_‘

eSO EI0ERO OSMIEMO ald]
(Bleflee0m® Bx)Slewd
(1) b, m, c agyomil @omeTREIAS
GWOMo
(2) c, e, d agyM] BOMEBYIOS
BWOMo
(3) b, ¢ ag)amil OWETBEOS BRIWO
(4) g, e, b agyem] BOWEMEOS
GO0

B0) HSLIOM Hademo A,B,C
ag)m] afl(@memaladd ©06m.al
@leOM@)Y BaloeL! ASHSI® GUdaHo
2fl@o C lad w06l fldlenmmy
GalO6Rl HSRIIM &HaHemen3md
eauglooglafidlenymy. mysdom’
@ BHSLIOM daemo ilaud@
WOEd @O®) ag)STBEOM B06MeQ|S]o
ag)(Mm” EMOOal@E®I@ mlom’
BEIENBOIT .

(el 2fl@o :

(A)
e 2fl@emBd :
O v O
.0
ol |o ﬁ < (Q
O " (&
(1) (2) 3) (4)
-29- P.T.O.
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49.9.\9.9.9.9.\9.9.9.9.9.9.9.9.9.9.9.\9.9.9,@.?.\9.\9. 9-9-9-@»9-9-9-9-9-992
b sish &
4 Roll Number eA v &
) ol %
9 gl
% - F|b
4 - IEA
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A = 5%
k. ®
3, Class - X z| %
=
g Part - | 3. g:
3, ScHoLastic ApTiTupe TesT (SAT) it
4 8
4 4
% Time : 120 Minutes Maximum Marks : 100%
gmsmucnons TO CANDIDATES : aBlsstodmdle:dangs MIBE3UemRd : g
3 Read the following instructions before you answerthe |aaiog ) D00 ag)mond ayseogiomeiimy aymt 3
questions. Answers are to be given in a SEPARATE |06 e1:0s)07fl@leaom de3EB®@B MwyELo
é’OMR ANSWER SHEET provided inside this |0@les. semeo m CHEMEM B} (AIEM )b SEMD %
% booklet. Break the seal and start answering the |#0seimla (OMR) @oem. aldeguaniimeato 4,
9 questions once asked to do so. gog&;%nmm% DIOBOIAIIMI0, EB0 ag)@QUIMIC 4,
4 1. Please write your ROLL NUMBER veryclearly | 1. o : S GO0 monud ( 631) @A 4
(only one digit in one block) as given in your @O(®0o) UMW (FleMBIOS (IenUwdm all@
Admission Card. ofldd maTidleanmm) aldnel ag)simid:.
2. There are 100 questions in this test. The 2. @0 aldlesonyppexomicd 100 coloaismgens.
questions are arranged in the following order : MO@A“’BG% MO6Y EBISIEAElHONLM [ ldd00
* Questions 1 to 40 belong to Science e Doy,
Subjects. . . :ﬂr();gnm% 40 cuewes @2loaETRd LropETidd ’3}
* Questions 41 to 60 are on Mathematics
Subjocts pE o e
* Questions 61 to 100 are on Social * 61 o 100 e, @203 B (00RO
Science. Uao@%mﬂm% aSlom. e P 4
3. Select the most suitable answer for each | 3. &060 eaioaaniimie palmacw semre eme §
question and completely darken the circle OETHSIE (EROR HEHOOE ‘TUP-"'%I“’&"”E : )
corresponding to the correct alternative as QY10 @O @06 OB &
shown below. o-{fepooll &0 feeyses. 3
Correct Method Wrong Method o B emp@dal | 4
CDP0d | VRO ©P20® | P0®e| §
4. All questions carry ONE MARK each. 4. agip ea103EIRes)o ey aodes Allmo. )
S. There is no negative mark. Every correct | 5. mum modes) g eoem0 o emeaniine & %
answer will be awarded one mark. o) Qoo o )
6. Do not write your name on any part of the | 6. diemaes caid €210} ajqpe:ariientewo oomo 4,
question booklet or on the answer sheet. HOSEOMIEXTHE0 BQ EUNBTTIO agyAmIN D o bGe] &
NTSE (S) - 2018 &
The copyright of the contents of this booklet rests with the Institution and no part of it should be used &
by anybody in any manner whatsoever without the prior permission of the Institution. The items are 4
prepared with best expertise. In case of any dispute the opinion of the experts appointed by Institution 3
will be final.
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There are 100 questions in all. For each
question four alternative answers are given
marked as (1), (2), (3), (4). From these, find
the most appropriate answer. The number
denoting this answer is there in the answer
sheet against the question number concerned.
Darken the circle with Blue/Black Ball Pen
only. Record the answers thus in the OMR
answer sheet only. Do not write anything in
the question booklet except your Roll Number
on the cover page and rough work in the
space provided for the purpose.

1. A protein present in myofibril is

(1) Tubul
M

(8) Keratin
(4) Chondrin

The plant group that bear naked seeds is

(1) Angiosperms
(2) Pteridophyta
(3) Bryophyta

anosperms

3. Choose the correctly matched organism

and its excretory organ.

(1) Insects — Kidney
(Lzﬁ:arthworm — Nephridia
(3) Frog — Skin

(4) Amoeba — Malpighian tubules

M-1

SAT
@6 100 ¢.0106)6IBM H6NE. 60600 62108 j@llmie
(1), (2), (3), (4) agyom @Rswogeq|sEflw moel
@ pomee allme ae:os)ETgens. @palwlad
RAEOWEMI a@R0 BRMIEWIRIDIWAEMO
DR HEMRC Hen3jallSlenisd:. OV MV
&)dleeym mmid pemasnsaonid amow’
eaajriemainn pend gon mmud @essude ayemo
mla aeg Il &0)jel navlwies U@
Ol Dalewouilal” &Onfends. pemoaBwd
ap (@000 OMR gomaesnsaiomlad asime
GOEUNIS)OTI)E:. C.2I03\6TBMD @RsSEElw enssiand
&b caldldd aflemgins c0od mmudle, Oad
el eauend morigies muoelen @ealmes
BFla i@ a¥lod: aeRIMIo ag) LMY

1. acwoeean(enlela BOEME QS
@O0V AMOTY

(1) syenpellm
(2) @D

(3) eeoglnd
(4) @B0endCUslD

®OMOCLY® 6NIRETBWD H0emea s
vy alleomaoeny

(1) eodelewo eqyaded

(2) esdleawonang

(3) (ERICWIPOA0Q

(4) =loemoemaed
dlow eegos] eaidmm lalleww)e
aflvdgmocieaacmio aloeen
S)BIBs.

(1) aBAWaIGETBWD — QLS

(2) oegflo — emadasie

(8) ®maug — mes

(4) @paleny — ool
Ml D

P.T.0.
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4. Choose the wrong statement about
glycolysis.

MCOSG is converted to carbon
\ dioxide and water

% akes place in cytoplasm

 (3) Does not require oxygen

| (4) Thefirst phase of cellular respiration

5. Which one of the following is a sexually
‘transmitted disease ?

(1) Kala-azar

(2ySyphilis

(3) Sleeping sickness
- (4) Typhoid

é. Identify the macro nutrient obtained by

plants from the soil.
" (1) Molybdenum
' (2) Zinc

(3) Boron
| Phosphorus

7. Fungal cell wall is made up of
Chitin
| (2) Peptidoglycan
~ (3) Protein
(4) Amino acid

\
8. The number of layers in meninges is

(1) 2
2) 1
- (3) 4

sl

M-1 -2-

SAT

. eageanglmimiiom eydle] amaIw

(IOPIOUM TOOETHS)BE) .

(1) Qisenomlom, H0de6niend
WEWIBOHNNVWLo RLIARMOW]
afleaiglaflenyomy.

(2) @BOMEOIETIE MSHOHM).
(3) eoglemad @oaiwdlg).
(4) @@OWUWMMETIOR EDRIIS0

. 20Ies M@l oeeloUlle:

@O0 aR® ?

(1) @oel-mpaud

(2) mfladliefiomy

(3) qlaflovd mileeiemms
(4) eeSGandW

. oeecdes) oepfiad afiomio aidleaim

oOyeIa IoaHd0o M@l jilw)d:.
(1) eaoglenicauimo

(2) alss

(8) @enuocOENMD

(4) @anOMianOMY

. anonmilem eeovdad mlddl gl

@l

(1) eed:gEln ,
(2) ealaigleanonegaedd
(3) @Ioglad

(4) mndlemo @amilaly

. encflemmies alodlaaes ag)eno

(1) 2
(2) 1
(3) 4
(4) 3
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9. Delta cells in pancreas secrete

(1) Glucagon

Watostatin

(3) Insulin

(4) Pancreatic polypeptide

10. Quickwilt in pepper is caused by
(1) Bacteria
(2) Nematode
(8) Virus

(4)Fungus

@ The products of light reaction are
(1) Oxygen, ATP, NADPH
(2) ATP, CO, NADPH
(3) CO,, Oxygen, ATP )(

_(4)-ADP, Oxygen, NADPH /

12. An organ that has the capacity to
regenerate its damaged cells is

(1) Lungs
(2) Heart

(8 Aiver

(4) Kidney

13. A plant hormone known as stress
hormone is

(1) Gibberellin
(2) Cytokinin
(3) Auxin

MScisic acid

M-1

10.

11

12.

13.

SAT

alomd@l@omiies ewag
B006TBGD (MVAfleanME

(1) UBOHEUEM
(2) emomoegoguIlad
(3) encdellad

(4) atomd@l@ogles
saloglonlainagal

B )0)MBB ORI (B®AUISOBIM
BHOVEMMO6N

(1) eniogZldlw

(2) oflmegoaly

(8) eecuOM

(4) anowmmy
(alds00aaISEileng O@dajmemgoem
(1) eogzmad, ATP, NADPH

(2) ATP, CO,, NADPH

(3) CO,, sogleed, ATP

(4) ADP, eogglzd, NADPH

MWlal] CalddhlM GHONERHR
aymdafiddlencad e¥laas @eoiw
UmoeMm

(1) wpovesvo

(2) anye@o
(3) ®ud

(4) Qyes
OYMY BanODEDIEND agmMdl@eqjsam
VN J8aOBEMOEND @6
(1) leruoelad
(2) eemegasslailad
(3) @ogd
(4) @peniaovmile: @amilol
P.T.O.
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14.

Which one of the following is correct

about vein ?
uf){tlves are present

(2) Thick wall

(3) Carries blood in high speed and
high pressure

(4) Carries blood from the heart

Which of the following is the correct

~ electronic configuration of Gadolinium

5%

qu?

16.

0l
=%

6

e
5l

v {021
ot

12
52
Yy

-
142
/11\

(Z=64)7
(1) [Xe] 41 58"~
(2) [Xe] 4f75d" 682 X

MXe] 4f8 62

(4) [Xe] 416 502 62

The method used to extract oils which
give fragrance to flowers is

Mactional distillation

(2) Steam distillation
(3) Sublimation

(4) Crystallisation

Which of the following pairs have the

same number of atoms ?

- o Caad
(1) 16¢g 01502(9) and 4 g of Hz(g)
Pyh (1) (<3

(2) 16gof O, , and 44 g of CO

2(g) 2(g)

(3) 28gof N ) and 16 g of Oz(g)

2(g

_ (412 gof G and 23 g of Nay,

-4-

0.5 Xbb29%2x10>
I

3
YK 6.002X 8 X 2

SAT
14. miloo® #)0la] dlwoa) agm ?
(1) cuomdEUd £06Mea S
(2) &g @sl e

(3) pdmM ecumaniele adqem
BLOIES ABMMVOUANMo

(4) anBEE@ oo cemeem
MoCUaNMo 6.21QM)

15. 2SO #0 IS d] 6} mM alfl@d
ag@osm weawoellailw (Z = 64) ailend
AW geIGRoed aflmomvo ?

(1) [Xe] 4f° 5s’
(2) [Xe] 4f75d" 62
(3) [Xe] 4 6d2
(4) [Xe] 4f® 5d2 6s2
16. alBOROS MNMWETIM H006MBOW
ag)epee8 madld dlmmio eadaid

6.2JS)eMMalmalieoudlenmm dlail
Qo6

(1) @Roudle: emjEMo
(2) ofleoadlemiame
(3) ©&®allnmo

(4) (@leyefle-osmo

17. 21310 S6O @9 0SLOB] @166 M Qfcd
aR® cROSI&:Elaloem ®yaljng)emo
ARQREIBRD HaK® ?

(1) 1690y, @049 HZ@ @jo

(2) 16 g0, W 44gCO

2(g) WO

2(9)
(3) 28 g N, @0 16 g Oy @o

(4) 129 C(s) 9023 ¢ Na(s) jo

1)
26,81 3
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18. The elements with atomic numbers
16, 34, 52 are all

(1) noble gases
(2) bhalogens

Mﬁlcogens

(4) heavy metals

19. ldentify the correct statement(s) in
relation to the following reaction :

Zn + 2HCIl — ZnCl, + H,,.
a. Zinc is acting as an oxidant %
b. Chlorine is acting as a reductant

c. Hydrogen ion is acting as an
oxidant —

d. Zinc is acting as a reductant .~
(1) (a)and (d) ¥
) (b) and (c)
M) and (d)
(4) (a)and (c) v

20. Which of the following alkali metal is
least reactive when treated with water ?

(1) Li () Na

_jﬂ)/Cs

@ The correct IUPAC name for
CH, = C(CH,) —CH =CH, is

(1) 2-methylbutane

}yzmethyl 1, 3-butadiene
(3) 1, 3-pentadiene

(4) 2-methylbutene X

(3) K

M-1 5

18.

19.

20.

21.

SAT
@EROMIE: Mo6U (M @LOo(@:@o 16,
34, 52 ag) M@ OeIEEIBR6T

(1) DEHOINYAUIDDEBUD
(2) an26RIDZRMEMD

(3) 2I0@OIEHIWMYBMRD
(4) caImMeEaanssRud

Zn + 2HCI — ZnCl, + H,; 0% (aJoud
@HMOED MVoeMUl 2] Bl
(e IOUM WD @fldlofSlayds.

(a) miles Boglamodlaoemy
(b) Al afleroglaotlwosm

(c) e an(WRM @PEWIEND
8308510 Bl oM

(d) ofles afle@ogilesodl@osny
(1) (a) @go (d) @0
(2) (b) @go () @go
(3) (c) @yo (d) @yo
(4) (a) @o (c) W0

2 101656060S)oMldleanmMaiad ag®
@@E6L] C2I0an@TIMoeT galn)mowf
(I QUBEW] HHIEMUIRD (B WOWIRIm

ARROUC OISR ?
(1) Li (2) Na
(3) K (4) Cs

CH, = C(CH,) = CH = CH, agyom
mosmElof wadlwow IUPAC
mMom@moem’
(1) 2-dleeLndd enlpegwitd
(2) 2-aleelndd,

1, 3-6n1 15006 QLEDDMD
(3) 1, 3-0alMoeeENVM
(4) 2-dlesLnddent Pslad

P.T.O.
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22) Which of the following is an aerosol ?
| (1) Automobile exhaust
' Q/Sﬁaving cream

(3) Milk

(4) Rubber

23. An element ‘X’ has the electronic
configuration 2, 8, 8, 2. What is the
formula and nature of its oxide ?

(1) XO, Neutral
(2) XO,, Acidic
(8) XO,, Amphoteric

__(4)/@, Basic

24, Match the following :

Column A Column B
a. HgS P. Pyrolusite
b. Fe,O,4 ., Q. Cinnabar
c. PbS R. Haematite
| d. MnO, S. Galena
| @ya-Q b-R c-S d-P
(@ a-P b-Q c-R d-S
|8 a-Q b-R c-P ‘d-S
(4) a-S b-R c¢c-Q d-P

@ What is the mass of hydrochloric
acid required to neutralize 500 ml of
0.5 molar sodium hydroxide ?

WSQ

(2 185g
(3) 365¢g
(4) 409 )
0.5= lem
M-1 2 e
fer

-6-

SAT
22. 21)QUOSOBNISI O @86 M U @
af)DEOBMOMRD a@@moem ?
(1) e@2e50dUaOMm alids
(2) eavaflowd (@lo
(3) aJo@d
(4) oegd
23. ‘X’ o) DRISOTOM gele(«goend
aflmypmo 2, 8, 8, 2 @oem. @O
89 OOTVAWIONM V(@IS JAL0
VLA ag)amIem ?
(1) XO, dldaafae
(2) XO,, @oailculles
(3) XO,, @@ocandegdiles
(4) XO, eerumiley

24. @al®)oals] Coldse)b:.

a080 A e080 B

a. HgS P. eeaignoeyeemg
b. Fe,O, Q. mfilemenuod

c. PbS R. canaeenq

d. MnO, S. wellm

(1) a-Q b-R ¢c-S8 d-P
(2 a-P b-Q c-R d-S§
(3) a-Q b-R ¢c-P d-S
(4 a-S b-R c-Q d-P

25. 500ml ; 0.5 ec@2og80® emowl®o
£6a0CWIBHeMAL enMe® aldall
DIDOSEIMNONR YR HEROGIERIS
@RMilaflend mom ag)@ ?

(1) 9.125¢
(2) 185¢g
(3) 3659
(4) 409

026 [+355 TaSxl. 498 G
!‘.

77 e
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@/ Which of the following compound gives

effervescence with sodium bicarbonate

solution ? 6@ ¢ H_}‘ ¢t H_
(1) CH,O S

2y CH,0,
(3) C,HO
(4) C,HO

27. Acolourless solution changes gradually

28.

29.

M-1

blue, when we put some copper turnings
into it. The solution is most likely to be

(1) Ferrous sulphate solution
(2) Magnesium nitrate solution
_(3)-8ilver nitrate solution

(4) Copper sulphate solution

A boy moving along a circular path of
radius 10 m completes 3/4!™" of the circle
in 10 sec. The magnitude of speed and
velocity are

y1 m/s and 47.1 m/s

4.71 m/s and 1.41 m/s
(3) 1.41 m/sand 4.71 m/s
(4) 1.41 m/s and 1.41 m/s

Two objects have masses intheratio 1 : 2.
If the forces acting on them are in the ratio
2 : 1 the ratio of their accelerations is

(1)1
@) 1:2
(3 2:1
(4)4:1

26.

27.

28.

29.

SAT

21106056 H6 9SO @86 M U @l @
QR® Mo@lemaoem emoal®o
O6ENBIDENIEEMERRMOQ] E2I1MIEMIOWD
N6} E)alo6TBYM@) ?

(1) CH,0

(2) C,H,0,

(3) C,HO

(4) C,HO

mlodlepem e} anoaiiaiealss) Bl0.a)
2 )y caibaaemioud @omien
afloo (@emem Mlei@ow Mmooy,
600 eoxl@osm)
(1) ©anom cvdeang el
(2) avdlayjonemaelsy riowail
(3) mMiadaud eemaesy el

(4) e&ed mBeang elo@]

10 diQd @REMEs QEmOE00MIW
alomailepss merRIdlenyMm aa) &gl

ayermaiend 3/4 @wo 10 eHmeeRIdd

al)deml@osamecsslad ealn®,
(@GO ENCU WLOJ(E-DO

(1) 4.71 m/s, 47.1 m/s
(2) 4.71 m/s, 1.41 m/s
(3) 1.41m/s, 4.71 m/s
(4) 1.41 m/s, 1.41m/s

N3} CUMILORIOS DOV man]
e @mialomo 1:2, @ocuidd
(JeWIUSlEneaS)M enieleBtd ®madl
88 @ mMlaldomo 2:1 agymo@
@OUQIOS @ ReMEBW ®manleles
@oMato®o

() 1.7
2 1:2
(3) 2:1

4) 4:1
' P.T.O.
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30. A current of 2 mA is flowing through

31.

32.

M-1

a circuit for 10 sec. The number of

electrons flowing through the circuit |.

during this time will be about

(1) 6x10"®  (2) 120 x 1018
(3) 20 (4y120 x 10'5

The smallest unit of length among the
following is

(1) Micrometer

gg.){lﬁnometer

(3)" Millimeter
(4) Light year

Resistivity depends on
(1) Length of the conductor

(2) Area of cross section of the
conductor

3y Nature of the conductor
(4) All the above

An object is kept at a distance of 1 m

from a convex lens of power 2 dioptre.

The image is formed at a distance
from the object.

(1) 05m L(g)\( m
M (4) 0.75m

An object is dropped from a height h, find
the height from the ground at which the
kinetic energy and potential energy are
in the ratio 3 : 4.

M TeQ @ %y X
BTEg @I gX
-8-
g fls

2x 10 Xe. 19”0 b T
20%/0
[2xs- SAT
30. avdesigldd eysl 2 digll eemiwd

31.

32.

33.

34.

e6ac o 10 6MHO[@ mawo
(a0l MOQBSIED E0D B:08IW
8lled @oaied ©ysl BB EDRIGIED
EMBHRN6IS og)Gmo QG ERUo

(1) 6x10'®  (2) 120x 108

(3) 20 (4) 120 x 10'°
mmmlelenimad mlgomleq
@R BO6TTn @yeilg

(1) eenewalQM

(2) moemodid

(3) dlgflaligd

(4) (ad0vRCURdaHO
omigdiaidl agtiem eaweeilaideao ?

(1) cwesowlen algo

(2) aloeBEmlon cancelalog8nl

(3) uoeIB@TeMR MUiEICIe

(4)

2 Wwewoalpd alaud 988 60}
eoMe sy eemmld mlmjio
1 algd Ere:eeWIes 680y A
oM (alalenflosnio auapiali@ mlom

BO@a 0T ag)R)oo

@021 OT5lelow]
FI L
(1) 0.5m ) 1m
(3) 2m (4) 0.75m

sy aupalem h gweewiad alomie
®oewssls M. Byleafl@ mlomio
af)(® HWOOETIOLIEMIGTUIPIEM @D
aumpaien nalesodszage mdlel

e:0d®ROY0 @afiepes @M 3 : 4

@Rdlespmna) ?

h
5 @
@ & @ 3
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0.5
35. Which of the following colour

combination of light gives white light ?
J],)/CYan and red

(2) Blue and red

(3) Magenta and red

(4) Yellow and red

36.) The speed with which the earth revolves

37.

38.

M-1

round the sun is about
(1) 1km/s
M .2 km/s
(3) 30 km/s
(4) 8 km/s
The voltage supplied to a bulb is halved.

Then the power consumed becomes
o

(1) Two times \f;\ —:Tff_
(2) Four times Va -
- 2

M\ =
(3) Halved / i il

2 X
(4)-One-fourth "~ 2 (R 2

h'ow

The net force acting on a book placed
on a table is

(1) Force of gravity

(2) Force exerted by table on the
book

(8) Frictional force

{4 Zero

35.

36.

37.

38.

SAT
(al oM@ IO O

a@®@ eowl@oem WAIglalHowo
DENBIHNM®) ?

(1) cv@mie alalaflo
(2) cflawje ayaiapoe
(3) amM@wie aliafio
(4) oevm®lo 2p0lapo

oy mMalifio Qelo cugim gdlwes
EUOEUNO afYBHGRU0

(1) 1km/s
(2) 11.2 km/s
(8) 30 km/s
(4) 8 km/s

a8a) eni@denflad (ale@owlenymm
BOUODESE ald)@IWIBNEMIORD alcud

(1)
()
(3)
(4)

2 osems

moey asevs
alen)@IlQ0d MM
moellealnmy @REym;

EDUWQUO®D) (o]l dleanym ey enyesicd
@MBAUOAJSIM aldlemmenielo

(1)
()

DO PBDaYEMeNILlo

QWD ENIBEIBD (IBIUTIBEM
énielo

ap|daMém enielo

alj&\o

(3)
(4)

P.T.O.
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@ Three identical resistors connected

40.

M-1

N
AN

in parallel and connected to a source
dissipates a power P. The power
dissipated in each resistor when they
are connected in series and connected
to the same source will be

(1) 3P (2) 9P

g
The velocity-time graph of an object
thrown vertically up is

T
@ LM |

@ 3

v

v

v

v

t—

&

y

-10-

39.

40.

SAT

MAIMA® MM (al@TERIWR>61B WD
m@MmE@RS 6w} cmuomcgglm‘é el
afl#6)eMI0988 alald Mago P ag)wslcd
@y agRemlwonl eaislaflenemiocd
60600 (JBIERIWBOTTIR)0 HEMBIB)MM
aloud mago

(1) 3P (2) 9P

P
@ % @ g
mesleaigy) agdlenmildlenmm aqpall

oM llerumale Mawaje marlejas
(P9ad

T

(M)

k4

t —
A
@ I,
t— ¥
1
@) v
t— &

—
v
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41. Which of the following is the ones place
of the product 3% x 8457

(1) 1 (2) 2

@ 3 A 34
India has a run rate of 3.2 in the first
10 overs. What should be the run rate
in remaining 40 overs to win a game of
target 282 runs ?

e

(1625 @) 5.5
(3) 7.25 (4) 8

43. If the figure given below has three
identical squares, then what is the value
of sinx ?

paa”
¥

@If A(2, 3), B(5, 7), C(11, 15) are three
collinear points, then B divides the line
joining A, C in the ratio
(2 1:3
S:;)/r 2

(4) 3:1

M-1 11-

{

41.

42.

43.

44,

%
[

b
)

’qi |
4 o

]

=

ot

4

atw

&
SAT

oildlenymaaidd 3% x 8% agm
WieMmManel MO8 BMIHBIOS
CUOOMETRBE (Vo6 JERMAE ?

(1) 1 @ 2
(3 3 (4) 4

EDONeS @EY 10 60IOI:EleR 06D
®Eowdl 3.2 @M. eldsijo 282 0D
@REEMEsITd eilwas 40 60CO@:E
e.l 06 dNd ag)mowidensmo ?

(1) 6.25 (2) 5.5
(8) 7.25 (4) 8
al@ET@ B0) CalonaIwas MMy

A28 SiN X ed@ afle
ag)amaem ?

5,2
28
75

250
2
i

/

X

3
) o

1
@ 3
@) 1

1
4) 7o
A(2, 3), B(5, 7), C(11, 15) agomilcu
8q alolea il engo@od B
agyom enflogy A, C o cwoedlaflemm
QUEO® o@® @0owdeNI ML EDIRI06m
@ouslaeyma) ?
(1) 1:1
(2 1:3
(3) 132, ¢
(4) 3:1
P.T.O.
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‘ConS|der a line passing through
A(1 2) and B(7, 10). Find a point on the
above line which is 15 units away from
‘he point A.

(<7, -10)
(2 (10.14))\
(3 4 6)7&
(4 (-2,-2)

/@ The figure shows a circle passing
through the points A(0, 2), O(0, 0) and
B(4, 0). What is the centre of the circle ?

(1)
)

(1,2)
(1,1)
(2,1)
4) (2,2
47. How many cubes, each of edge 6 cm

can be cut from a Prism of dimension
4écmx360mx24cm?

(1) 134 ok 11
(PR
(@) 224 %
(3) 186 o
e i
| Wb

M1 12

SAT

45. A(1,2), B(7,10) agrmiloicilepes &somy

Gn_lodBMN 63 (LM aldlcnenileads. A @d
oo 15 @emly eneaomlelss
auowflea aago eilas e ?

(1) (=7,-10)
(2) (10, 14)
(3) (4,6)
4 (-2,-2)
46. fNmaiadd A0, 2), O(0,0), B(4,0) agyo
enfl3)Bnsl2nes $HSM) GalddyMm M)

ayemo @mildleanmmy. ayEmH@Tan
BH((Bo a@moem ?

3

AZ2

J\J

) (1,2)
(2) (1, 1)
(3) (2, 1)
(4) (2,2)

47, chdyw‘m.di 24sxm.d.me-uﬂm
&y e el alrmyo 6 aav. d

VIONES G DMK B IOLLELOMD

ooudleeye ?
(1) 134
(2) 224
(3) 186
(4) 168
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48. Three bells commence tolling together
and each toll after 30 minutes, 1 hour
and 45 minutes. After what interval will
they again toll together ?

(1 hrs o)
(2) 150 mts L
(3) 2 hrs and 40 mts

[0 Xq%2
A

(4) 200 mts

49. In the figure AB is 50 cm. What is the
length of the side DC ?

& 57

o 4 d
A 60 B ¥ C
(1) 5043cm ) _ Jax
, ﬁ’ coi%
Wcm sotu=3%
9x =560
(3) g-g-cm % =29
50
4 7/3m

50. If Jan. 1, 2018 is Monday, what day of
the week was Jan. 1, 2015 ?

(1) Tuesday
(2) Wednesday

Mursday

(4) Friday

M-1

"7 9”3 9\_'_:' -13-
3

SAT

48. oM @6mlextd @Lo@-mo 30 dlafls,

1 aemlomd, 45 dlaflg agaril eseaug
&glad enflonyom) ag)m B0im}ss.
e amdl.a] enflennm seBE:0
OO .

(1) 3 oeflen0ed

@) 150 Aafigied

(3) 2 aemilenynle 40 dlaflgio

(4) 200 dlafigyed

49. ofl@esicd AB =50 eavuagldiqd eowodd
DC ayes aflgo agyamoen ?

ol

A B

(1) 50v3 eqv. d.

(2) 25v3 exv. di.
25
(3) 75— . al.

50
(4) 75 ea. al.

50. &myaudl 1, 2018 aflego¥.alwowomd
gyaudl 1, 2015 epYaidfea ofo
dlauo ao@fidleo ?

(1) émocyouﬁ‘m

?‘-fn!/

(2) enpwmoYal Gz 4 M
(8) uyowoval Ly Z = |
(4) eugdlwoal 2=73
_ P.T.O.
(2

r )

T RTYE SE AT e s et A s Ay o

4054 F+342e3d Bazedei }

=
17
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)

90

5 —
A i
(@) 95days  ;y R

.

LU

Class - X g [ /, :

@ If 12 men or 16 women can do a work
|n 172 days, how long will 21 men and

15 women together do the same work ?
|
(1) 64 days

Mays

(3) 80 days ﬁ;\i

N 19
35*39

If the surface area and volume of a
sphere are equal, then what is the
volume of the smallest box in which it

can be placed ?

h )fﬁ.}l}

,,\% (1) 81 cubic. units —J& 1,3
%” (2) 32 cubic. units

\5\4 “b% 27 cubic. units a=t Q [c,,.;‘»

(4) 64 cubic. units ¢ @

53. Tickets numbered 1 to 50 are mixed
and one ticket is drawn from it. What is
the probability that the ticket drawn is a
rﬁultiple of 5 and an even number ?

6,\0‘\15(%0!'@[ '

5
=69

M 5
(

3)

S

@)

",Wﬁqw

-14-

na

52.

53.

tamdlew=112 5090 inr |0

Mttw=R3 1832 97
11%*\ 42 %i w6 E|  SAT

. 12 aloauaod @oegj@sld 16 (mfleid

a0} emoell 172 dlaumem®@d 6d@:06ne
aldEm@oenom H¥lwieamld 21
alj0)ad@odenio 15 (Pledenio
coudm’ v emoell ag)® dlalmo
6106 oA ILHM B Fl@lo ?

(1) 64 dlcumesswd
(2) 70 dlaurvensd
(3) 80 dlaumesswd
(4) 95 dlauorvensad

80) cNI/EWIOM oaldimal allagld
gRAko QUfda Qo MILMOWOM D
€080 MB:HIB6H M BIWIM RO
62101 OaIWOS Qlidajo ag)moem ?

(1) 81 aim. @yeilgied
(2) 32 caim. eI
(3) 27 aaim. @i
(4) 64 caim. @eniQidend

1 y@@d 50 AU Mo ag)Rmiw
SleOQHD SHRIROTHIW Edakto B}
Sleeq ag)Sieamy. Slengleal mos
5 oM@ wmyemlmaljo BDOSMo6 @0
@BRSOMBS MVIWI® af)ano6m ?
1

(1) 5
1
2 75

- =

@3)

N

(4)

W=



: 2 . 4 ) 2
= ‘irqw\ $q-15 (&J)HH(‘“ abors IS G
54. If the selling price of 40 articles is equal | 54. 40 mowmemges aflgallel 50 aowm !‘ <

55.

56.

57.

M-1

to cost price of 50 articles, then the gain
percent is

(1) 25% o pybe=C1x20
) [4 r =5
(2) 15% i,
(3) 20% ¢:P =5 CHP ci2g
/l,/
(4) 24%

What is the value of

1 1 1
1+7§+7§-+J§+...+m ?
(1) 0 (2) 1
(3 -1 (42

If the sum of 3 numbers in AP is 18 and
the sum of their square is 158, what are

the numbers ? y s
1, 6, 11 (2) 3,6,9
(8) 0,6,12 (4) -1,6,13

Inthe figure A, B, C, D, E, F are midpoints
of the sides of equilateral triangles. What
is the ratio of the areas of largest triangle
to the smallest triangle ?

\(2(8:1

(4) 16:1

(1) 4:1
(3) 32:1

o U 51

q 1

55.

56.

57.

EBRI6OS QUoETEl@ Qfleiosemeld,

IO LVB@IMo 3d%co 5%(
(1) 25% j"j czs 708
(2) 15% 45
(3) 20% Zo
(4) 24%

1 1 1

AN BN - P .|

oM allel agomoen' ?

(1) 0 (2) 1
(3) -1 (4) 2

macsme ewemlwlelas aym’
Mo6L JB-ROS @ 18 @M. DAIW)OS
UdLEBEIHS @H 158 @OWIM
Vo6 Jx(d ap@maem ?

(1) 1,6, 11 (2) 3,6,9
(3) 0,6,12 (4) -1,6,13

A, B, C, D, E, F ag)omilcu cvae)es
(@EBHOEMETBRIOS QUNETBELOS AW
enfimyengoem. alalw (@flee0em sl
oo 6.21c5w (@less0emarioniwlo
aloaendlex @owrenimuo agmosn) ?

(1) 4:1
(3) 32:1.

(2) 8:1
(4) 16:1
: P.T.O.
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.. +10% = 385, then what

f124+224+ 324

isthevalueof22+42+62+ . +2027?
1540
L\-\ ) f\?ﬂﬁ} 7{}:\4/
(2) 770 [,, 2
35
0- (3) 1925 m HX’“ >
. Ry . %
e @ 1000 \
.#U’f 59. The figure shows a regular pentagon
Y ALy ~inscribed in a circle with centre C. The
value of x is
|
M=
PO
).
"o
A
PGV (1) 54°
O (2) 36°
\000 (4) 80°
] 60. What is the ratio of areas of incircle to
\j«i‘bf circumcircle of an equilateral triangle ?

A

@ 1:2 Balss,
(3 1:3 -
4) 2:3 ﬁ

M-1 %

o

-16-

SAT

. +102 = 385 @oWOmd
+202 &R aflel agmoem ?

58, 12+224+324
Ry 2iBP+...

(1) 1540
) 770
(3) 1925
(4) 1000

59. all@edld macleRie)RETOm aldl

QYD Gdx(Bo C @em. x 6 afle

(1) 54°

(2) 36°
(3) 72°

. (4) 80°
80 MAEGLR(®]EH6maEDT6 R

- @OOdLEDOTfle R0 aldlalsmon
ORWI0 alda|8Q&:D ®anle}ss

@DoUdERIMWC agTB06eM) ?
(1) 1:4
2 1:2
(3) 1:3
4) 2:3

60.
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61. The Khilafat Movement was started

(1) To protest against the partition of
Bengal

(2) To protest against the Jallianwalla
Bagh incident

M defend the power of the Khalifa
(4) To protest against the First
World War

62. Some events related to India’s National
Movement are given below. Identify the
correct chronological order.

A. Salt Satyagraha

B. Swadeshi Movement

C. Lahore Congress _
D. Chauri-Chaura Incident .
(1) B,C,D, A
_2rB.D,C, A

(3) B,A,C,D

(4) B,A,D,C

63. Which among the following is wrongly
related ?

(1) Long March - Chinese
Revolution

(2) Tennis Court - French

Oath Revolution
(3) Boston Tea - American war of
P Independence
4y Bloody Sunday — Latin American
Revolution

SAT
61. alanan®E® (lnadmo EYoE '
2@

(1) eruonotd allegmardiieom
afloox (alafleauulleanom

(2) =oellwadnloeoenow Mo e
OMNDNOW (al@fleayulenom

(3) auelao@yes @wldeo06am
Mo L0

(4) smMooceeiB@ALETIOMlow
(el @flanyullenond

62. O IWOS ERUBIW (aIAIMAMOD
enImee]s 2flel moesTBEIEY
2006 ®MIFE[®. @OAUIWOS
NET@OI® &HOBIMEMMI (Do
BEIENBOT .

(A) 9af @ an0
(B) ovjeaudl (alomoomo
(C) encandd queamgmo
(D) aivdl-alvmmoIo
(1) B,C,D,A

(@ B,D,C,A

(3 B,A,C,D

(4) B,A,D,C

63. apues mmigescid swoslenomm
am® ?

(1) sawomody] - ee.aimdmy
adlgdao
(2) esomilmi es00g - (anerml
(Jafleem aflgjalo
(3) eeruogd Sl - @neadlend
alod PO,
raoe
(4) osmOesfleacw — aodimen
MOWINIY ] @lee0d
aflgjale
P.T.O.
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@4. Name the British Prime Minister who
~  participated in the Munich Conference
of 1938.

Y Winston Churchill ™ -
(2) Neville Chamberlain
' (3) Stanley Baldwin .

(4) Ramsay Mac Donald

6g> The Rebellion held in the kingdom of
Bastar js an example of
Rebellion in the forest
(2) Peasant rebellion
(3) Rebellion of sepoys
\ (4) Poligar revolt
Which among the following is the correct
pair 7
Bengali — Surendranath Banerji_/|
(2) Voice of India — Mahatma Gandhi
(3) New India - Lala Lajpath Rai

{4«}\/ Nation — Dadabhai Naoroji

@ The Second International was held in
- Paris on the centenary of

(1)

The declaration of the rights of man
and of the citizen

Formation of the National
Convention

(2)

(3) End of the Reign of Terror

Fall of the Bastille Prison

G

‘Mein Kampf’, written by Hitler, was
. published in

(1) 1924 (2) 1925
.~ (3) 1933 (4)1928

M-1

SAT
64. 1938 el myemiles meaamaesid
ale®:5)0m (EnISlad (aIwoma(il

(1) afddepad oid.gfldd
(2) emalg ealoerudeaiiiid
(3) quocdel ensovbawaflm

(4) 0206 DBEUOEMITDUY

65. ENLMI®D EIWYEB MSOM deidalo

£BIaNOMAWISIAR®Y

(1) cumadiles @-aval@sloy

(2) Edatd BRIOAIDTIM

(3) Al DOMOS B0
(4) 8aIosld @RI IETI

66. ayaiesmMigessidd rdwow eoal
a@@ ?
(1) enowosll — MyEAEBMILY

enuomnded)

GO — BanIEDIWIMU]
630a0 EDOM

(2)

(3)
(4)

@600 MAMoauEM@ aloa@lavlad
msm® a@flend Moo aobadlees
elo@fleyomy ?

My} DO — RIDRID LlFal®) OO
BMayd — B0EEIW Malenogd
67.

(1) @MY OAUBIW (a6l jdalMo

2) ecrle s:endeciddaned ol
S>06Mo

(3) Ado cEeMETIONG @OAIMIMO

(4) eruomiai@ afleflo mdesdol

68. adlQeid nallg) ‘omddsooan’ (almil

allex@l o) cudatio
(1) 1924
(3) 1933

(2) 1925
(4) 1928

-18-
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@. The Spanish civil war is considered as
the ‘dress rehearsal’ of

(1) The First World War

(2) The Russian Revolution

(37 The Second World War

(4) The Chinese Revolution ~¢

Q@ The names of some writers and their
- works are given below. Match them

correctly.
Writers Works
A. Omar I. Rajatharangini
Khayyam
B. Al-Firdausi  Il. Geethagovindam
C. Kalhana lll. The Rubaiyyat

D. Jayadeva |V. Shahnamah

(1)
(2)
3)

_(4A-ll B-IV C-I D-Ill

A-IV B=Ill C—1 D-1II ’
A-IV B-Ill C=Il D-I
A-lll B-IVC—Il D-I

71. Name the Iron and steel industrial firm
started, with the assistance of Germany,
in India.

(1) Bhilai
(2) Bocaro

__(Q)/ngrkela

(4) Durgapur
M-1

69.

70.

O 0w »

71.

SAT
Molay’ @DE M0 RI00160 D
@@ Lcwq;g“ Aleanmelowoen
BEMBNIBOMNM ?

(1) &mmoe GRIG:W)ELE
(2) Oaygymd allgjalo
(3) @énzo0 GRIDG@)ARLO

(4) eeaicflov aflgjalo

alflel ag)9Eme00ES®0 BOAIMYOS
2 IMBRCSW]0 GalD}dHEo6m. alAIOS
®MIg8s®. @PAIOHW WOlRIW]
(- DOQIS) T .

ag) P o0 B0d ®.2IMd0D
sad aIgjoo l. @gmacuilen
@@ — adldaamil . dlomemoaiasoe
B @anemd . openioefigyomm
RQEBQIMD IV. adomoa

(1) A=IV B=1Ill C=1 D-1II
2) A=IV B=1ll C=1l D-I
3) A=Ill B=IV C~Il D-I

(4) A=lll B=IV C—1 D=1l

ROOM®IOS MaNIVWEOMOINS
o leiono@lal )M 0)E0)
QIO UL

(1) Alenal

(2) ©enu£62800
(3)
(4)

OdeH0el
30N pd
P.T.O.
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@. Consider the followiﬁg statements and
identify the correct response from the
| options given.

Statement — | : The council called
Ashtapradhan helped the Maratha ruler
Sivaji in administration.

~ Statement—Il;: Chawthand Sardeshmukhi
were the two kinds of taxes that existed

| in the Maratha kingdom.

(1) Statement-|istrue and Statement ||
is false

(2) Statement—|isfalse and Statement—II
| istrue

Both the statements are true but

Statement — Il is not the correct

explanation of Statement — |

.~ (4) Both the statements are true
and Statement — Il is the correct
explanation of Statement — |

@ Name the state through which the tropic
of cancer passes 7

Rajasthan
(3) Odisha X

(2) Bihar
(4) Assam’X

74. |dentify the correct pair.

- (1) Tapti \(\ - Mahabaleswar
hills

(2) Godavari Y= Baithul district

Nasik district

- (8) AKrishna -
(4y Kaveri -
|
75. Which are the mountain ranges of the
Peninsular plateau ?

(1) Siwalik ranges
(2) Karakoran ranges
Satpura ranges

(4) Khasi hills

Bhrahmagiri hills

M1 20-

SAT

72. apales omm5es (alpIIME:®D

aldlewoull ] @MEWOR MO (ol
nemo mmlgiagai@lad almyoe
BB .
(oo — | 1 @oaglalwond agomd
@ealg Male] a00Emo @MW
&00lwo® wluElow @rem@ad
mano@fl.oy.

(egocum = Il : 200Em @O yHil@d
ofleiflom eend oileyeilegoaieymy
alomye mndesuinaiiee.

(1) (apocum | redlayo (EIPIUM I
O®RIMIET

(2) ladayocum | emgio (alapoaim I
waleymoem

(8) @6nE (alOUME:GIo REIWo6).
mMo@d (alapocum Il (alapoaim
| o vedlo aflvadleeemagy
(4) ©6NE (aIPOIQIMEB:GIo LOBIIEM.
laapocum 1l (o | e vod]
@o@ Qflvadleemalmosm.

73. ayaues mdslolgiega 1@
HEMOOWM GO6U BHSTY GalodM R}

rOE0OMERM) ?

(1) eommoom (2) enflanod

(8) eallay (4) @O0

74. Ao c;oSlew ?

(1) ®@oqy - @andenIeRIcd
)T

(2) ewmosocU@ - aasmmém%uﬂg;

(3) @yatlem -  momile gy

(4) @oecud -  (Eruaadidl
Brl YD

75. 9alflafl@ aflogdlwes @INBIW
oeiroc®) ?

(1) amflcuoelles et
(2) ®006H00 (rilodxtd
(3) m@alo afleeud

(4) 6uOMIl By MBUD
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76. A peculiarcharacteristics of the retreating
monsoon season

_(1October heat

(2) Loo the hot wind

(3) The onset of the cyclone which
forms in the Mediterranean sea

(4) Mango showers

77. Identity the statement related to laterite
soils.

(1) Type of soil in Deccan trap
region

( ound in regions of high rainfall
and intermittent high temperature

(8) The colour of this soil is due to the
presence of iron

(4) Major soil of the North India
plains
78. The term ‘Arabica’ indicates
(1) A crop season of India
(2) A type of tea cultivated in Kerala
(3) A type of rice seeds

m quality coffee produced in
India

79. The Indian state which produces the
largest quantity of manganese is

(1) Jharkhand
A2)-0COdisha

(3) Chhattisgarh
(4) West Bengal

M-1 2

SAT

76. aendauemilend alldaiosmsd s:oeimvlaal
&0} ([aIwam mallewaum@os

(1) 8mesoenid ans
(2) ey ag)MM Dademe6HOq

(3) eaadlgeomlwmd eseld ojalo
BIBM  2l(BH U6 MR
@Sy AUl

(4) @GO aHBIYMY

77. 2paies naeloigasnilad aogeang
meegglam ooeTUTUSLe) (e ImocmE@m) ?

" eomeuelleeal
mnaoeml@

(1) aw®eenom (s
mafleray o

(2 s@dmMm cmI®I@ avYw®lo
osally p@dm moalmleiw)o
@OMBAIOHQISI (alEBUoe3E] @
OLELLESg0)

(3) eommilex®@oocomoeT)E0o mamm(@
olo@wilad’ &o06mo

(4) pOmERAOIMAGRIOTIOA D6}
aeflmaoeme)

78. ‘@ooeniles’ ag)im alBo ag)atilom mal
afleegomy ?
(1) smyiee 61} odalle: a0
(2) e8I Byl eaigyMM
emailal gpmo
(3) &dlmo exnaallem
(4) i@ oabajodlaflesm
MO E0Mo B0 lBNOIHNRD
79. @oom Ml 9@ajomadil@ agaio
@Tilepgs enam M miomoomena) ?
(1) owodeuemuy
(2) sallay
(3) ao@ilomimaus
(4) advvallm entowowd
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80. Match the correct pair of the major

81.

82.

nuclear power stations in India and the
‘'states in which they are located ?

1. Tharapur a. Tamil Nadu
2. Narora b. Rajasthan
| 3. Kalpakkum c. Uttar Pradesh
4. Rawatbhata d. Maharashtra
Jy{—v:j 2-c 3-al4-b
@ 1-d 2-a 3-b 4-c
8 1-c 2-d 3-a[4-b
| (4 1-b 2-d 3—ak4—c

Which water way in India is considered
as National Water Way — 2 (NW —-2) ?

(1) The water way in River Ganga
which connects Allahabad and
Haldia

(2) Western coastal canal in Kerala
‘ p)/T'r: waterway in Bhrahmaputra
. river which connects Sadia and
Dhubri

(4) The Mandovi and Zuari rivers

ICIassify the following resources
suitably.

i. Wind

ii. Metals

iii. Fuels

iv. Forest
i and ii renewable
iii and iv non-renewable
i and iv renewable
ii and iii non-renewable
iii and iv renewable

i and ii non-renewable

renewable

| "22'

80.

81.

82.

SAT
snomy@fleal (alwom @M GO D 2R
mleweases @l qudlale.aligyom
momoomemsglnow] egowleald
B .
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(2) MEWIO (b) @ozaROOM

(3) &@ajodeo (c) DOBD (JIGBUY

(4) oocumes (d) @anIOY

(1) 1-d 2-c 3-a 4-b

2) 1-d 2-a 3-b 4-c

B) 1-c 2-d 3-a 4-b

4 1-b 2-d 3-a 4-c
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SOEm
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O simal

i @o il o alym:munoalle6ne g
SOOI
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©aSimal
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)
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83. The correct description of magnetite
(1) The major ore of Manganese
(2) The ore of Aluminium

(3yThe | high quality iron ore

(4) None of the above

@ The Manikaran in Himachal Pradesh is

~ famous for

de)/Geothermal project

(2) Oil refinery “»
(3) Lignite mihingx
(4) Wind mills x

85. Two countries have the same National
Income, but having different average
incomes. Pick out the correct reason
from the following answers.

(1) The size of population is equally

The country with higher averag?

income country is less populated

(3) In the country with lower average.
income, the working population is
less

(4) Inthe country with higher average
income the size of the juvenile
population is lower

86. Human development index is measured
on the basis of

,(a‘r){ducation, Health and Social

Security

(2) Education, Health and Income
inequality

(3) Education, Health and National
average income

(4) Education, BMI and Social status
of individuals

M-1 -23.

SAT

83. @uimesgalem wdwow
aflevvaremenm ?

(1) @vcmailmilen (iwom @eie
(2) moepdlrfiocsion ewie

B) wdmm afanones soqmIid
(4) oauewomMg
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(1) @Y®ICIdBE alaL®]
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(1) &mavoey myg)i@oeny
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BR0006)

(4) @AM EINAE AUBBIMDER

mm‘ymbﬂexo@mm@ssn@smo

BYOCLET)
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@eR @SInom ARISH68RwD

(1) aflayosyomo, @YEOIW Jo,
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87. During the initial stages of economic growth,

the major contributor to the GDP is
|

| (1) The tertiary sector

(2) The manufacturing sector

(3) The public sector

%e agriculture sector

| In one of the following states of Indian
Union, the IMR is higher than that in some
of the poorest regions of the world.

Pick the answer, from the options given
below :

(1) Bihar
| . (2) Orissa
(3) Madhya Pradesh

Mtar Pradesh
|

@ Credit can be obtained without collateral
' securities from

-4 Co-operative Banks
. (2) Regional Rural Banks
(3) SHGs

(4) Grameen Banks

@ In India, the informal credit-sector
activities are supervised by
| A1) The director of informal credit

,(2)/The finance department of the
Government

(8) The Rural Inspectorate of credit

(4) None of the above

s24-

SAT

87. VOMIETE USROS (al00oB
caigemadl@ ¢ Uil aioy@IMETilen

(aIWOM GO
(1) Wellw caalel
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9. Pick outthe wrong one from the following
options.

MNCs prefer to work under the
conditions of

(1) Cheap unskilled labourers

_(2y Costly skilled labourers
(3) Proximity to markets

(4) Strict labour laws

COPRA is

(1) A judicial set-up
La{quasi-judicial organisation
(3) A two-tier organisation

(4) Enacted during 1985

93. Who acts as the connecting link between
the executive head of the nation and the
Council of Ministers in India ?

(1) Vice-President

2y Prime Minister

(3) Speaker of Lok Sabha
(4) Cabinet Secretary

94. What is meant by West Minister Model
of Government ?

(1) Modelof Parliamentary Government
of U.K.

Model of Presidential Government
of U.S.A.

X (3) Model of one-party rule in China

(4) None of the above

SAT

91. ®moeY M@MHIWISe8 (aIapocmde:sad
DRV af®) ?
MNIaNOI(YO BMUMIBRBH6 @PMIGRO
£8\D0Q (IUBEHM AlURIOEDELIETRRD
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95. Who hasthe power to enlarge the jurisdiction
' of the Supreme Court of India ?

(1) Parliament by law
\

.~ (2) The President of India

(3) | Chief Justice of India
|

M President in consultation with

the Chief qustice of India
\

96. Which of the following is NOT an All India
Service 7

(1) Indian Administrative Service
- (2y"Indian Police Service

(8) Indian Foreign Service

(4) Indian Forest Service
\

97. Who has the power to create or abolish
| the state Legislative Council ?

(1) Parliament on the recommendation
| of the Governor

(2) President on the recommendation
of the Governor

\
_LS)/President on the recommendation
of the State Assembly

| arliament on the recommendation
of the State Assembly

M-1 -26-
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98. Constitutionalism does NOT mean

(1) Government based on
Constitution

(2) Government limited by
Constitution

(3)-Government not limited by
Constitution

(4) Government which functions
according to law

Which of the following committee is
related to electoral reforms in India ?
(1) Singhvi Committee
(2) Indrajit Gupta Committee
(38) Sarkaria Commission

(4)Ashok Mehta Committee

100. Which of the following is NOT a feature
of a Democratic System ?

(1) Commitment of the Government
to the people

(2) Tolerance to consider opposite
points of view

(38) Enhancement of the dignity of
citizens

M)/D;niel of freedom of expression

SAT
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100.

M-1
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